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1. A student was asked to find the arithmetic

mean of the following 12 numbers :

311,79,15,13, 8,19, 17, 21, 14 and x.


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_VskSSuh7WvmV

He found the mean to be 12. The value of x will

be :

A3

B.7

C.17

D. 31

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_VskSSuh7WvmV

2. The average of the marks obtained in an
examination by 8 students was 51 and by 9
other students was 68. The average marks of
all 17 students was:

A. 59

B.59.5

C.60

D. 60.5

Answer: C

‘ o Wiadk hh \AAA CAaliikianm



https://dl.doubtnut.com/l/_jFA2PLe1RN0o
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3. If the average marks of three batches of 55,

60 and 45 students respectively is 50, 55 and

60, then the average marks of all the students

IS

A. 54.68

B.53.33

C.55

D. None of these


https://dl.doubtnut.com/l/_jFA2PLe1RN0o
https://dl.doubtnut.com/l/_EjJIN4UhAjzx

Answer: A

o Watch Video Solution

4. The average of 30 results is 20 and the

average of other 20 results is 30. What is the

average of all the results ?

A 24

B. 48

C. 25

D. 50


https://dl.doubtnut.com/l/_EjJIN4UhAjzx
https://dl.doubtnut.com/l/_z2MPIpcasM5p

Answer: A

o Watch Video Solution

5. Average of ten numbers is 7. If every number

is multiplied by 12, what will be the average of

new numbers?

A7

B.19

C. 82

D. 84


https://dl.doubtnut.com/l/_z2MPIpcasM5p
https://dl.doubtnut.com/l/_EYRiQK09FW2t

Answer: D

o Watch Video Solution

6. Average of ten numbers is 7. If every number
is multiplied by 12, what will be the average of

new numbers?

A.Rs 410

1
B. Rs 4106—
> 3

2
C.Rs 4106§

1
D. Rs 418—
>


https://dl.doubtnut.com/l/_EYRiQK09FW2t
https://dl.doubtnut.com/l/_Ch5T8W9vUtd3

Answer: C

o Watch Video Solution

7.The average weight of five persons sitting in
a boat is 38 kg. The average weight of the boat
and the persons sitting in the boat is 52kg.
What is the weight of the boat?

A.228 kg

B. 122 kg

C.232 kg


https://dl.doubtnut.com/l/_Ch5T8W9vUtd3
https://dl.doubtnut.com/l/_EyPSgi4qlzES

D. 242 kg

Answer: B

° Watch Video Solution

8. The average of 20 numbers is calculated as
35. It is discovered later on that while
calculating the average, one number, namely

85, was misread as 45. The correct average is:

A.36


https://dl.doubtnut.com/l/_EyPSgi4qlzES
https://dl.doubtnut.com/l/_ffF1B2uBj2O0

B.36.5

C.37

D.37.5

Answer: C

o Watch Video Solution

9. Total weekly emoluments of the workers of a
factory is Rs 1534. Average weekly emolument
of a worker is Rs 118. The number of workers in

the factory s :


https://dl.doubtnut.com/l/_ffF1B2uBj2O0
https://dl.doubtnut.com/l/_GwgnLuinwxYp

A.16

B.14

C.13

D. 12

Answer: C

° Watch Video Solution

10. The average of a b and c is 20 and that of b,

cand dis 25.1f d =30, then the value of a is :


https://dl.doubtnut.com/l/_GwgnLuinwxYp
https://dl.doubtnut.com/l/_6gWwi1YvVAj3

A. 25

B.45

C.30

D. 15

Answer: D

o Watch Video Solution

. If average of 20 observation

L1y Ly v nennn oo IS y . then the average of


https://dl.doubtnut.com/l/_6gWwi1YvVAj3
https://dl.doubtnut.com/l/_cQ1NGxiklj5f

L1 — ].0]., Ly — ].O]., L3 — 101, c e ee e X20 — 101

IS :

A.y-20

B.y-101

C. 20y

D. 101y

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_cQ1NGxiklj5f

12. The average of x numbers Is y and average
of y numbers is x Then the average of all the

numbers taken together is

T+ y
2Ty

2xy

r+y
332-|-y2
r+y

Ty
r+y

C.

D.

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_P6K55pPvh0wd

13. The average of x numbers is y? and the
average of y numbers is z* . Find the average
of all the numbers taken together
23 3
A. w—iz
B.zy

332-|-y2
r+y

C.

D. a:yz + ym2

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_xO8KKmsmzvuO

14. The average of n numbers

X1, L9y ....... X, IS x. Then the value of

n

Z (z; — ) is equal to

i=1
A.n
B.O

C.nx

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_p8WCab91qv3b

15. In a class, average height of all students is
a cms. Among them, average height of 10
students is 'b' cms and the average height of
the remaining students is 'c’ cms. Find the

number of students in the class. (Here a > ¢

and b > ¢)
b
L b9
a—c
b—rc
B.
a—c
b—rc
C.
10(a — ¢)
10(b — ¢
o (b—rc)

a—=c¢C


https://dl.doubtnut.com/l/_p8WCab91qv3b
https://dl.doubtnut.com/l/_4UZHGFVx2Fnr

Answer: D

o Watch Video Solution

16. A library has an average number of 510
visitors on Sunday and 240 on other days. The
average number of visitors per day in a month
of 30 day beginning with Sunday is :

A. 285

B. 295

C.300


https://dl.doubtnut.com/l/_4UZHGFVx2Fnr
https://dl.doubtnut.com/l/_QVeuD6hUPr8I

D. 290

Answer: A

o Watch Video Solution

17. Nine students of a class contribute a
certain sum of money. Seven of them gave Rs.
50 each and the other two gave respectively
Rs. 50 and Rs. 90 more than the average
contribution. The average contribution of the

class of 9 students is:


https://dl.doubtnut.com/l/_QVeuD6hUPr8I
https://dl.doubtnut.com/l/_LgKfvAxoq4F0

A.Rs 70

B.Rs 50

C.Rs 100

D.Rs 120

Answer: A

o Watch Video Solution

18. The average monthly expenditure of a
family is Rs 2,200 during first three months, Rs

2,550 during next four months and Rs 3,120


https://dl.doubtnut.com/l/_LgKfvAxoq4F0
https://dl.doubtnut.com/l/_Su5jsBHO3DMl

during last five months of the year. If the total
savings during the year was Rs 1,260, what is
the average monthly income ?

A.Rs 1,260

B. Rs 1,280

C. Rs 2,805

D. Rs 2,850

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_Su5jsBHO3DMl
https://dl.doubtnut.com/l/_zNwp4oNLN8Op

19. Find the average of 1.1, 0.01, 0.101. 0.001,

0.1

A. 0.2664

B. 0.2554

C.0.1264

D. 0.1164

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_zNwp4oNLN8Op

20. 4 boys and 3 girls spent Rs 120 on the
average, of which boys spent Rs 150 on the
average. Then the average amount spent by
the girls Is:

A.Rs 80

B. Rs 60

C.Rs 90

D. Rs 100

Answer: A

‘ ° Wiak hh \AAA CAaliikianm



https://dl.doubtnut.com/l/_fq4KqCnfFK33
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21. The cost of 6 tables and 12 chairs is Rs.

7800. If the average cost of 1 table. is Rs. 750.

Find the average cost of 1 chair.

A.Rs 250

B.Rs 275

C.Rs 150

D.Rs 175

Answer: B

| s


https://dl.doubtnut.com/l/_fq4KqCnfFK33
https://dl.doubtnut.com/l/_zMWxwpyx1oKR

| ¥ Watch Video Solution ]

22. Out of 20 boys, 6 are each of T m 15 cm

height. 8 are of T m 10 cm and rest of 1 m 12

cm. The average height of all of them is

A.1Tm121 cm

B.1Tm 21.1cm

C.Tm21cm

D.Tm 12 cm

Answer: A



https://dl.doubtnut.com/l/_zMWxwpyx1oKR
https://dl.doubtnut.com/l/_XBkoMiqhqYpZ

\ o Watch Video Solution

23. There are two groups A and B of a class,
consisting of 42 and 28 students respectivery.
If the average weight of group A is 25 kg and
that of group B is 40 kg. Find the average

weight of the whole class.

A. 69 kg

B.31kg

C.70 kg


https://dl.doubtnut.com/l/_XBkoMiqhqYpZ
https://dl.doubtnut.com/l/_CepcOPkxLQD0

D.30 kg

Answer: B

o Watch Video Solution

24. The average monthly salary of all the
employees in an industry is Rs 12,000. The
average salary of male employees Is Rs 15,000
and that of female employees is Rs 8,000.
What is the ratio of male employees to female

employees ?


https://dl.doubtnut.com/l/_CepcOPkxLQD0
https://dl.doubtnut.com/l/_NuagMwN7jYy0

A 5:2

B.3:4

C.4:3

D.2:5

Answer: C

o Watch Video Solution

25. The mean of 9 observations is 16. One more

observation is included and the new mean

becomes 17. The 10th observation is


https://dl.doubtnut.com/l/_NuagMwN7jYy0
https://dl.doubtnut.com/l/_ol7MGjGIXxi5

A9

B.16

C. 26

D. 30

Answer: C

o Watch Video Solution

26. The average of 8 numbers is 27. If each of
the numbers is multiplied by 8, find the

average of new set of numbers.


https://dl.doubtnut.com/l/_ol7MGjGIXxi5
https://dl.doubtnut.com/l/_0JOJT5zWmusT

A. 1128

B. 938

C. 316

D. 216

Answer: D

° Watch Video Solution

27. The average of 100 numbers is 44. The

average of these 100 numbers and 4 other


https://dl.doubtnut.com/l/_0JOJT5zWmusT
https://dl.doubtnut.com/l/_Q8XCR9xfXsCK

new numbers is 50. The average of the four

new numbers will be:

A. 80

B. 200

C.176

D. 24

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_Q8XCR9xfXsCK

28. The average temperature for Monday,
Tuesday, Wednesday and Thursday was 48° .
The average temperature for Tuesday,
Wednesday, Thursday and Friday was 52°, If
the temperature on Monday was 42°, then the

temperature on Friday was (in degrees)

A. 58

B. 56

C.52

D. 50


https://dl.doubtnut.com/l/_Gd0gL3Ae1PeJ

Answer: A

o Watch Video Solution

29. The arithmetic mean of the following

numbers 1,2,2,3,3,3,4,4,4,4,5,5,5,5.5, 6,6,

6,6.6,6and 7,7,7,7.7,7.7 is

A 4

B.5

C.14

D. 20


https://dl.doubtnut.com/l/_Gd0gL3Ae1PeJ
https://dl.doubtnut.com/l/_kr5MLjHeW0N7

Answer: B

o Watch Video Solution

30. There are 100 students in 3 sections A B
and C of a class. The average marks of all the 3
sections was 84. The average of B and C was
87.5 and the average marks of A is 70. The

number of students in A was:

A.30

B.35


https://dl.doubtnut.com/l/_kr5MLjHeW0N7
https://dl.doubtnut.com/l/_jl5iRq55T8VF

C. 20

D. 25

Answer: C

o Watch Video Solution

31. The average weight of 11 persons out of 12
is 95 kg. The weight of 12th person is 33 kg
more than the average weight of all 12

persons. Find the weight of 12th persons


https://dl.doubtnut.com/l/_jl5iRq55T8VF
https://dl.doubtnut.com/l/_H2nvEPMRyBD9

A.128.75 kg

B. 128 kg

C.131kg

D. 97.45 kg

Answer: C

o Watch Video Solution

32.The average weight of AB and C Is 45 kg. If

the average weight of A and B be 40 kg and


https://dl.doubtnut.com/l/_H2nvEPMRyBD9
https://dl.doubtnut.com/l/_16grkq6jFomS

that of B and C be 43 kg, then the weight (in

kg) of B is

A. 20

B. 26

C. 31

D. 17

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_16grkq6jFomS

33. The average of some natural numbers is 15.
If 30 is added to first number and 5 is
subtracted from the last number the average
becomes 17.5 then the number of natural
number ls:

A. 15

B.30

C. 20

D.10

Answer: D


https://dl.doubtnut.com/l/_VaMXkXtZdLNl

° Watch Video Solution

34. The average weight of 3 men A, B and C is
84 kg. Another man D joins the group and the
average now become 80 kg. If another man E,
whose weight is 3 kg more than that of D,
replaces A, then average weight of B, C, D and

E becomes 79 kg. The weight of A is.

A.72 kg

B.74 kg

C.75kg


https://dl.doubtnut.com/l/_VaMXkXtZdLNl
https://dl.doubtnut.com/l/_j7B89UV8IDux

D. 76 kg

Answer: C

° Watch Video Solution

35. The average weight of 15 oarsmen in a boat
is increased by 1.6 kg when one of the crew,
who weighs 42 kg is replaced by a new man.

Find the weight of the new man (in kg).

A. 67


https://dl.doubtnut.com/l/_j7B89UV8IDux
https://dl.doubtnut.com/l/_jnAf81QYkIoM

B. 65

C. 66

D. 43

Answer: C

o Watch Video Solution

36. A librarian purchased 50 storybooks for his
library. But he saw that he could get 14 more
books by spending Rs. 76 more and the

average price per book would be reduced by


https://dl.doubtnut.com/l/_jnAf81QYkIoM
https://dl.doubtnut.com/l/_eNNFt6XK4hkw

Re. 1. The average price (in Rs.) of each book he

bought, was:

A. 15

B.10

C. 25

D. 20

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_eNNFt6XK4hkw

37. The average of 1, 3, 5, 7, 9, 11,

terms is:

A. 125

B. 25

C.625

D. 50

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_7uCzSE5Rdtub
https://dl.doubtnut.com/l/_GbZMDMtNfoqa

38. Six friends have an average height of 167

cms. A boy with height 162 c¢cm leaves the

group. Find the new average height.

A. 168 cm

B. 166 cm

C.169 cm

D. 167 cm

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_GbZMDMtNfoqa
https://dl.doubtnut.com/l/_whzCWtidWbsV

39. The average revenues of 7 consecutive
years of a company is Rs. 75 lakhs. If the
average of first 4 years is Rs. 70 lakhs and that
of last 4 years is Rs. 82 lakhs, what will be the
revenue for the 4th year ?

A. Rs. 85 lakhs

B. Rs. 83 lakhs

C. Rs. 81 lakhs

D. Rs. 79 lakhs

Answer: B



https://dl.doubtnut.com/l/_whzCWtidWbsV

\ o Watch Video Solution

40. Three maths classes : X, Y and Z, take an
algebra test. The average score of class X is 83.
The average score of class Y is 76. The average
score of class Z is 85. The average score of
class X and Y is 79 and average score of class Y
and Z is 81. What is the average score of

classes X,Y,Z

A. 815

B. 81


https://dl.doubtnut.com/l/_whzCWtidWbsV
https://dl.doubtnut.com/l/_PJs0Y6JnLAKU

C.80.5

D. 80

Answer: A

o Watch Video Solution

41. The mean high temperature of the first,
four days of a week is 25°C whereas the mean
of the last four days is 25.5°C. If the mean
temperature of the whole week is 25.2°C then

the temperature on the 4th day is:


https://dl.doubtnut.com/l/_PJs0Y6JnLAKU
https://dl.doubtnut.com/l/_Gl7mY6gyvGJB

A.25.5°C

B.25°¢c

C.25.2°C

D.25.6°C

Answer: D

o Watch Video Solution

42.The average marks of 50 students in a class

is 72. The average marks of boys and girls in


https://dl.doubtnut.com/l/_Gl7mY6gyvGJB
https://dl.doubtnut.com/l/_GTvzo9cu6srM

that subject are 70 and 75 respectively. The

number of boys in the class is:

A. 20

B.35

C. 25

D. 30

Answer: D

0 Watch Video Solution



https://dl.doubtnut.com/l/_GTvzo9cu6srM

43. The average marks obtained by a class of
60 students is 65. The average marks of half of
the students is found to be 85. The average
marks of the remaining students is

A.35

B.45

C.55

D. 65

Answer: B

‘ ° Wiadk~hh \AAaA CAaliikianm



https://dl.doubtnut.com/l/_CBraiaHKmrBB
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44. The average of marks obtained by 100
candidates in a certain examination is 30. If
the average marks of passed candidates is 35
and that of the failed candidates is 10, what is
the number of candidates who passed the

examination?

A. 60

B.70

C.80


https://dl.doubtnut.com/l/_CBraiaHKmrBB
https://dl.doubtnut.com/l/_F6Ci6lZGBBOw

D.90

Answer: C

° Watch Video Solution

45. The average of 100 observations was
calculated as 35. It was found later, that one of
the observations was misread as 83 instead of

53. The correct average is :

A.32.7


https://dl.doubtnut.com/l/_F6Ci6lZGBBOw
https://dl.doubtnut.com/l/_voGSss3vMFGS

B.34.7

C.35.7

D. 36.7

Answer: B

o Watch Video Solution

46. If the difference between the average of x,
y and vy, z is 12, then the difference between x

and zis :


https://dl.doubtnut.com/l/_voGSss3vMFGS
https://dl.doubtnut.com/l/_mCCr1KhcP6j9

A 24

B. 48

C.12

D.6

Answer: A

o Watch Video Solution

47. he average of the first 7 integers in a series
of 13 consecutive odd integers is 37. What is

the average of the entire series?


https://dl.doubtnut.com/l/_mCCr1KhcP6j9
https://dl.doubtnut.com/l/_kMhxdky5GrJl

A.37

B. 39

C. 41

D. 43

Answer: D

° Watch Video Solution

48. The average marks of a class of 35 children

is 35. The marks of one of the students, who


https://dl.doubtnut.com/l/_kMhxdky5GrJl
https://dl.doubtnut.com/l/_1OaHfNXlBnQy

got 35, was incorrectly entered as 65. What is

the correct average of the class?

A.33.76

B.34.14

C.35.24

D. 36.5

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_1OaHfNXlBnQy

49. The average height of 30 boys out of a
class of 50 is 160 cm. If the average height of
the remaining boys is 165 cm, the average
height of the whole class (in cm) is :

A. 161

B. 162

C.163

D. 164

Answer: B

I ° Wiadk hh \tAAA CAaliikianm



https://dl.doubtnut.com/l/_EPSezHrZU5Pc
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50. The average of marks of 17 students in an
examination was calculated as 71. But it was
later found that the mark of one student had
been wrongly entered as 65 instead of 56 and
another as 24 instead of 50. The correct

average is:

A.70

B. 71

C.72


https://dl.doubtnut.com/l/_EPSezHrZU5Pc
https://dl.doubtnut.com/l/_VzqYO3M33DYM

D.73

Answer: C

o Watch Video Solution

51. In an examination the average marks
obtained by John in English, Maths, Hindi and
Drawing were 50. His average marks in Maths,
Science, Social Studies and Craft were 70. If the
average marks in all seven subjects is 58, his

score in maths was


https://dl.doubtnut.com/l/_VzqYO3M33DYM
https://dl.doubtnut.com/l/_uPxnROrNIFKh

A. 50

B.52

C.60

D. 74

Answer: D

o Watch Video Solution

52. The average of prime numbers between 1

and 20 is


https://dl.doubtnut.com/l/_uPxnROrNIFKh
https://dl.doubtnut.com/l/_FULEp9F9cY2A

()
cofd)

D.8

Answer: B

o Watch Video Solution

53. The mean of marks secured by 50 students
in division A of class X is 61, 25 students of

division B is 57 and that of 50 students of


https://dl.doubtnut.com/l/_FULEp9F9cY2A
https://dl.doubtnut.com/l/_O2GmacchnlvU

division C is 55. What will be the mean of

marks of the students of three divisions of

Class X?

A. 571

B.56.4

C.59.2

D. 578

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_O2GmacchnlvU
https://dl.doubtnut.com/l/_J7L9gOCIKulO

54, The average weight of Shubha, Govinda
and Reshma is 65 kg. If the average weight of
Shubha and Govinda be 63 kg and that of
Govinda and Reshma be 70 kg, then the
weight of Govinda is:

A.41kg

B. 71 kg

C.88 kg

D. 46 kg

Answer: B

[ 1


https://dl.doubtnut.com/l/_J7L9gOCIKulO

I O Watch Video Solution

55. The average of three numbers of which

greatest is 16 is 12. If the smallest is half of the

greatest, the remaining number is:

A. 12

B.8

C.14

D.10

Answer: A


https://dl.doubtnut.com/l/_J7L9gOCIKulO
https://dl.doubtnut.com/l/_RTln9f6HQSXU

° Watch Video Solution

56. The average marks obtained by 180
students in an examination is 50. If the
average marks of passed students is 80 and
that of the failed students is 40, then what is
the number of students who failed the

examination ?

A. 90

B. 135

C.100


https://dl.doubtnut.com/l/_RTln9f6HQSXU
https://dl.doubtnut.com/l/_Stzw2EOGBRtf

D. 45

Answer: B

° Watch Video Solution

57. Average of 36 results is 18. If 2 is subtracted

from each result, what will be the new average

of the results ?

A9

B.16


https://dl.doubtnut.com/l/_Stzw2EOGBRtf
https://dl.doubtnut.com/l/_YWkBfaRI5nmU

C.17

D.17.5

Answer: B

o Watch Video Solution

58. A group of boys has an average weight of
36 kg. One boy weighing 42 kg leaves the
group and another boy weighing 30 kg joins
the group. If the average now becomes 35.7 kg,

then how many boys are there in the group?


https://dl.doubtnut.com/l/_YWkBfaRI5nmU
https://dl.doubtnut.com/l/_Si3RWZRBKsaq

A.30

B.32

C.40

D. 56

Answer: C

o Watch Video Solution

59. The average weight of 100 students is 32
kg. The average weight of first 49 students is

30 kg. and that of last 50 students Is 34 kg.


https://dl.doubtnut.com/l/_Si3RWZRBKsaq
https://dl.doubtnut.com/l/_FCKGn4mEDdxx

What is the weight (in kg.) of the 50th

student?

A. 25

B.30

C.32

D. 33

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_FCKGn4mEDdxx

60. What is the average of all numbers

between 8 and 74 which are divisible by 7?

A.40

B. 41

C.42

D. 43

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_wfugcPNDTdps
https://dl.doubtnut.com/l/_fMTZwcHimoXJ

61. What is the average of all numbers

between 100 and 200 which are divisible by 13

?

A.147.5

B.145.5

C.143.5

D. 149.5

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_fMTZwcHimoXJ
https://dl.doubtnut.com/l/_oG65AXZmphq9

62. In a class of 50 students there are 22 girls

who scored an average of 35 marks In the test.

What is the average marks of the boys if the

class average is 42 marks?

A. 50

B.52.5

C.47.5

D. 55

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_oG65AXZmphq9

63. What is the average of first 7 multiples of

7?

A7

B.14

C. 21

D. 28

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_oG65AXZmphq9
https://dl.doubtnut.com/l/_pDIZ959mWoV9

64. The average of 11 results is 182. If the

average of first 6 results is 199 and that of the

last 6 results is 161, then what will be the 6th

result?

A.79

B. 118.5

C. 158

D. 237

Answer: C

I o Watch Video Solution


https://dl.doubtnut.com/l/_q9q0pAZ9LqoJ

65. Average weight of a class of boys is 24 kg.
When a boy having weight 36 kg leaves the
class and a new boy having weight 30 kg joins
the class, then the average weight becomes
23.5 kg. How many boys are there in the class?
A 12
B.8

C.6

D. 16


https://dl.doubtnut.com/l/_q9q0pAZ9LqoJ
https://dl.doubtnut.com/l/_uMM6hWxsSK5h

Answer: A

o Watch Video Solution

66. The average of marks obtained by A and B
is 15 less than that of average marks obtained
by B and C. If the marks obtained by C is 65,
then what is the marks obtained by A?

A.35

B. 50

C.65


https://dl.doubtnut.com/l/_uMM6hWxsSK5h
https://dl.doubtnut.com/l/_rKCubIIFptHt

D. 80

Answer: A

° Watch Video Solution

67. Average weight of a group of 11 students is
37 kg. When a student left the group, then
average weight of the group becomes 35 kg.
What is the weight (in kg.) of the student who

left?

A. 65


https://dl.doubtnut.com/l/_rKCubIIFptHt
https://dl.doubtnut.com/l/_FcvMKvebCR62

B. 59

C.57

D.70

Answer: C

o Watch Video Solution

68. The average weight of L, M and N is 93 kg. If
the average weight of L and M be 89 kg and

that of M and N be 96.5 kg, then the weight (In


https://dl.doubtnut.com/l/_FcvMKvebCR62
https://dl.doubtnut.com/l/_FgmJBdaScbQt

A. 92

B. 86

C. 101

D. 95

Answer: A

o Watch Video Solution

69. Mahesh buys 3 shirts at an average price of

Rs. 1250. If he buys 2 more shirts at an average


https://dl.doubtnut.com/l/_FgmJBdaScbQt
https://dl.doubtnut.com/l/_dFDgMgGZYHgt

price of Rs. 1450 what will be the average price

(in Rs.) of all the 5 shirts he buys?

A.1370

B. 1330

C. 1310

D. 1390

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_dFDgMgGZYHgt

70. Among four bags, average weight of last
three bags Is 18 kg and the average weight of
first three bags is 19 kg. If the weight of last
bag is 22 kg, then what is the weight (in kg) of
first bag?

A 32

B.24

C.33

D. 25

Answer: D


https://dl.doubtnut.com/l/_Ys61QSpVoDAW

° Watch Video Solution

71. The average weight of X, Y and Z Is 74 kg. If
the average weight of X and Y be 68 kg. and

that of Y and Z be 78 kg., then the weight (In

B. 68

C. 68

D. 66


https://dl.doubtnut.com/l/_Ys61QSpVoDAW
https://dl.doubtnut.com/l/_TxamwFfqBlNA

Answer: B

o Watch Video Solution

72. The average weight of a class of 50

students Is 48.6 kg. If the average weight of

the 20 boys is | 54 kg, then find the average

weight (in kg.) of the girls in the class.

A.40

B.46

C.45


https://dl.doubtnut.com/l/_TxamwFfqBlNA
https://dl.doubtnut.com/l/_5IcqTWq67tjS

D.42

Answer: C

o Watch Video Solution

73. What is the average of 36, 43, 51,68 and 777

A.47

B. 49

C.55

D. 64


https://dl.doubtnut.com/l/_5IcqTWq67tjS
https://dl.doubtnut.com/l/_iYtfcMdQxDBw

Answer: C

o Watch Video Solution

74. The average of 10 numbers is 14. If each
number is multiplied by 6, what will be the

new average?

A.70

B. 84

C. 56

D. 92


https://dl.doubtnut.com/l/_iYtfcMdQxDBw
https://dl.doubtnut.com/l/_0IGhs0q36M4W

Answer: B

o Watch Video Solution

75. The average height of AB and C is 148 cm.
If the average height of A and B is 136 cm. and
that of B and C is 125 cm., then what is the
height (In cm.) of B?

A. 56

B.78

C. 12


https://dl.doubtnut.com/l/_0IGhs0q36M4W
https://dl.doubtnut.com/l/_0ZFslsjuljMg

D. 130

Answer: B

o Watch Video Solution

76. The average of two numbers is 10 and the

product of two numbers is 96. Find the two

numbers.

A. 3,32

B.12,8


https://dl.doubtnut.com/l/_0ZFslsjuljMg
https://dl.doubtnut.com/l/_rGKk0ZrorsfY

C. 1,96

D. 24,4

Answer: B

° Watch Video Solution

77. If the average of 31, x, 42, 39, 56, 78, 83 and

91 is 58.5, what is the value of x ?

A. 26

B.34


https://dl.doubtnut.com/l/_rGKk0ZrorsfY
https://dl.doubtnut.com/l/_Jj2jv9FhVqek

C.58

D. 48

Answer: D

o Watch Video Solution

78. The average of three numbers is 58. First
3

number is Zth of the third number. If the

third number is 24 more than the second

number, what will be the difference between

the first and second number?


https://dl.doubtnut.com/l/_Jj2jv9FhVqek
https://dl.doubtnut.com/l/_SEx0PEaYm9Xq

A 24

B.6

C.16

D. 18

Answer: B

o Watch Video Solution

79. The average weight of 25 candles is 40
gram. If some candles of weight 50 gram each

were removed, then average weight becomes


https://dl.doubtnut.com/l/_SEx0PEaYm9Xq
https://dl.doubtnut.com/l/_WbAJy5Uk65SH

37.5 gram. How many candles of weight 50

gram each were removed?

A3

B.5

C.8

D. 12

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_WbAJy5Uk65SH

80. If the difference between the average of d

and e and that of e and h is 19, what will be

the difference between d and h?

A.38

B. 22

C.9

D. 19

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_sBzXzeQqj9N0

81. The average weight of A, B and C is 55kg.

The average weight of A and B is 52 kg and

that of B and C Is 48 kg. The weight of B is:

A.3 kg

B. 50 kg

C.32kg

D.35 kg

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_PdsWHXpMSPGb

82. The average marks of three groups of 50,
56 and 44 students are respectively 55,52 and
40.
What will be the average marks of all
students?

A. 4948

B. 49.84

C.5048

D. 49

Answer: A


https://dl.doubtnut.com/l/_1XrjYISv81TQ

° Watch Video Solution

8. In a family there are two grand parents,
four parents and six grand-children. The
average age of grand-parents is 70 years, that
of parents is 40 years and that of grand
children is 12 years. What is the average age of

the family?

A. 35 years

B. 32 years

C. 30 years


https://dl.doubtnut.com/l/_1XrjYISv81TQ
https://dl.doubtnut.com/l/_I8b7lQP7vGsA

D. 31 years

Answer: D

o Watch Video Solution

84. In a class of 50 students, 40% are girls. The
average weight of the boys is 62 kg and that of
the girls is 58 kg. What is the average weight
(in kg) of the whole class?

50 BHEI ! VP Hall § 40% @Sfhdl & | dsdhl &l
3TId g3 62 foBcll I 92T cisfeal &1 3 a1


https://dl.doubtnut.com/l/_I8b7lQP7vGsA
https://dl.doubtnut.com/l/_WgbXLQz5Y64X

58 fopal 7T ¢ | IXT et &I 3iad a1 ( foeett I
)dg?

A.60.4

B. 60.2

C.60.38

D. 60.6

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_WgbXLQz5Y64X

1. The average of 7 consecutive numbers is 20.

The largest of these numbers is:

A 24

B. 23

C. 22

D. 20

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_OuJhUY8m0Ckx

2. The average of first nine prime numbers is:

A9

B. 11

C.11(
D.11(

Answer: D

)
)

Ol o]

° Watch Video Solution



https://dl.doubtnut.com/l/_BPfzQx7aIkWI

3. The average of 5 consecutive natural
numbers is m. If the next three natural
numbers are also included, how much more
than mwill the average of these 8 numbers be?
A. 2
B. 1

C.14

D.1.5

Answer: D

‘ ° Wiak hh \iAAA CAaliikianm



https://dl.doubtnut.com/l/_tuXaJmbeUA1I

VVOILLIL VI INAGINIE L J

4. What is the average of the first six (positive)

odd numbers each of which is divisible by 77

A 42

B.43

C.47

D. 49

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_tuXaJmbeUA1I
https://dl.doubtnut.com/l/_LJDtCiyy3hGn

5. The average of odd numbers upto 100 is:

A.50.5

B. 50

C.495

D. 49

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_LJDtCiyy3hGn
https://dl.doubtnut.com/l/_NbIgS2glytFi

6. The sum of squares of first ten natural

numbers is :

A.355

B.36

C.375

D.38.5

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_RExg9526AtmI
https://dl.doubtnut.com/l/_ABM6TMv9rlTM

7. If the average of eight consecutive even

numbers be 93, then the greatest number

among them is:

A. 100

B. 86

C.102

D. 98

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_ABM6TMv9rlTM
https://dl.doubtnut.com/l/_qVsUJs4iQ9F7

8. The average of three consecutive odd

numbers Is 12 more than one third of the first

of these numbers. What is the last of the three

numbers ?

A.15

B.17

C.19

D. Data inadequate

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_qVsUJs4iQ9F7

9. The average of nine consecutive odd

numbers is 53. The least odd number is:

A. 22

B. 27

C.35

D. 45

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_qVsUJs4iQ9F7
https://dl.doubtnut.com/l/_1ezihHeG9soT

10. The average of the first nine integral

multiples of 3 is:

A 21

B. 12

C.15

D.18

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_vMvL4lda5n2e
https://dl.doubtnut.com/l/_y0UV5JmSASRS

1. The average of 6 consecutive natural
numbers is K. If the next two natural numbers
are also included, how much more than K will

the average of these 8 numbers be?

A. 13

B.1

C.2

D.1.8

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_y0UV5JmSASRS

12. a,b,c,d,ef,g are consecutive even numbers. J,
k, I, m, n are consecutive odd numbers. The

average of all the numbers is:

a+n
A.
(3"

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_y0UV5JmSASRS
https://dl.doubtnut.com/l/_1usnNSHvKlIb

13. If the average of 6 consecutive even

numbers is 25, the difference between the

largest and the smallest number is:

A.8

B.10

C.12

D. 14

Answer: B

I o Watch Video Solution


https://dl.doubtnut.com/l/_1usnNSHvKlIb
https://dl.doubtnut.com/l/_ruQ52v0oXAPq

14. If the average of 5 consecutive number
starting with m is n. Find the average of 6

consecutive number starting with m + 2

2n + 5
2

B.(n + 2)

C.(n+3)

2n + 9
2

Answer: A

| e |


https://dl.doubtnut.com/l/_ruQ52v0oXAPq
https://dl.doubtnut.com/l/_zuyENDFAthba

| & Watch Video Solution

15. Eight consecutive numbers are given. If the
average of the two numbers that appear in
the middle is 6, then the sum of the eight
given numbers is:

A. 54

B. 664

C.36

D.48


https://dl.doubtnut.com/l/_zuyENDFAthba
https://dl.doubtnut.com/l/_lwmh6oeJgj84

Answer: D

o Watch Video Solution

16. The average of four consecutive even

numbers is 15. The 2nd highest number Is:

A. 12

B.18

C.14

D. 16


https://dl.doubtnut.com/l/_lwmh6oeJgj84
https://dl.doubtnut.com/l/_YVo4GiEBmCQR

Answer: D

o Watch Video Solution

17. The average of five consecutive positive

integers is n. If the next two integers are also

included, the average of all these integers will:

A.increase by 1.5

B. increase by 1

C.remain the same

D. increase by 2


https://dl.doubtnut.com/l/_YVo4GiEBmCQR
https://dl.doubtnut.com/l/_GxHuv8Z2dTAg

Answer: B

o Watch Video Solution

18. The average of nine consecutive numbers is

n. If the next two numbers are also included

the new average will

A.increase by 2

B. remain the same

C.increase by 1.5

D. increase by 1


https://dl.doubtnut.com/l/_GxHuv8Z2dTAg
https://dl.doubtnut.com/l/_XQI3odNxioHi

Answer: D

o Watch Video Solution

19. If a, b. ¢, d, e are five consecutive odd

numbers, their average is:

A.5(a + 4)

5 abede
"5

C.5(a+b+c+d+e)

D.a + 4


https://dl.doubtnut.com/l/_XQI3odNxioHi
https://dl.doubtnut.com/l/_9A9CijlD4RW8

Answer: D

o Watch Video Solution

20. The average of all the odd integers

between 2 and 22 is:

A 14

B. 12

C.13

D. 11


https://dl.doubtnut.com/l/_9A9CijlD4RW8
https://dl.doubtnut.com/l/_XETPJCvEMQHi

Answer: B

o Watch Video Solution

21. The sum of three consecutive even
numbers is 28 more than the average of these
three numbers. Then the smallest of these

three numbers is

A.6

B. 12

C.14


https://dl.doubtnut.com/l/_XETPJCvEMQHi
https://dl.doubtnut.com/l/_lWFz4F0yHx2k

D. 16

Answer: B

o Watch Video Solution

22.The average of 25 consecutive odd integers

is 55. The highest of these integers Is

A.79

B. 105

C. 1555


https://dl.doubtnut.com/l/_lWFz4F0yHx2k
https://dl.doubtnut.com/l/_cORBH58GXSYm

D. 109

Answer: A

o Watch Video Solution

23. What is the average of the squares of the

first 19 natural numbers?

A. 124

B.127.5

C.130


https://dl.doubtnut.com/l/_cORBH58GXSYm
https://dl.doubtnut.com/l/_h879jY5KgVyb

D.133.5

Answer: C

o Watch Video Solution

24. What Is the average of first 29 even

numbers?

A.30

B. 31

C.32


https://dl.doubtnut.com/l/_h879jY5KgVyb
https://dl.doubtnut.com/l/_SeIvwbo8wBlx

D. 33

Answer: A

° Watch Video Solution

25. The average of five consecutive odd

numbers is 27. What is the product of the first

and the last number?

A. 621

B. 667


https://dl.doubtnut.com/l/_SeIvwbo8wBlx
https://dl.doubtnut.com/l/_RORStz8SKhH9

C.713

D. 725

Answer: C

o Watch Video Solution

26. The average of three consecutive even
numbers is A. If next five even numbers are
added, what is the average of these eight

numbers?


https://dl.doubtnut.com/l/_RORStz8SKhH9
https://dl.doubtnut.com/l/_03PNW0J5TkYx

A. A+3

B. A+4

C. A+5

D. A+7

Answer: C

° Watch Video Solution

27. The average of four consecutive odd

numbers is 40. What is the largest number?


https://dl.doubtnut.com/l/_03PNW0J5TkYx
https://dl.doubtnut.com/l/_pJcG2qEwO0se

A 42

B.45

C.43

D. 44

Answer: C

o Watch Video Solution

28. The average of 5 consecutive numbers is A
If the next 3 numbers are also taken, then

what will be the new average?


https://dl.doubtnut.com/l/_pJcG2qEwO0se
https://dl.doubtnut.com/l/_QnsIg9I6jacV

A. A+1

B. A+1.5

C.A+2

D.A+2.5

Answer: B

o Watch Video Solution

29. The average of three consecutive odd

1
numbers is 52 more than Erd of the largest of


https://dl.doubtnut.com/l/_QnsIg9I6jacV
https://dl.doubtnut.com/l/_Ss2adeRtK4m1

these numbers. What is the smallest of these

numbers ?

A.79

B.75

C. 81

D. 77

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_Ss2adeRtK4m1

30. The average of 41 consecutive odd

numbers is 49. What is the largest number.

A. 89

B. 91

C.93

D. 95

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_WYDorTcYn3it
https://dl.doubtnut.com/l/_Q3ZYYO6hnrR1

31. What is the average of the cubes of the

first 13 natural numbers?

A. 196

B. 364

C. 485

D. 637

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_Q3ZYYO6hnrR1

32. What is the average of first 17 odd

numbers?

A.16

B.17

C.18

D. 19

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_jV8KIz9rcVLY
https://dl.doubtnut.com/l/_8s7zqalN5e2e

33. The average of four consecutive even

numbers is 51. What is the third number?

A. 46

B.52

C. 54

D. 56

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_8s7zqalN5e2e

34. Average of 7 consecutive odd numbers is
31. If the previous and next odd number to
these 7 odd numbers are also included, then
what will be the new average?

A. 33

B. 31

C.35

D. 29

Answer: B

I ° Wiak hh \tAAaA CAalii:ianm



https://dl.doubtnut.com/l/_fkZhQyFFkqxR
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35. What is the average of squares of first 10

natural numbers?

A.555

B.45.6

C.38.5

D.40.5

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_fkZhQyFFkqxR
https://dl.doubtnut.com/l/_2jbA7Yjl2uJQ

36. The average of seven consecutive odd
numbers is A. If next four and previous three
odd numbers to these seven odd numbers are
also included, then what is the new average of
these 14 consecutive odd numbers?

A. A+3

B. A+4

C. A+2

D. A+1


https://dl.doubtnut.com/l/_2jbA7Yjl2uJQ
https://dl.doubtnut.com/l/_cs9vlnRJL6RA

Answer: D

o Watch Video Solution

37. The average of 15 numbers is 20 and the

average of first five numbers is 18. What is the

average of the remaining numbers?

A 21

B. 25

C. 28

D. 30


https://dl.doubtnut.com/l/_cs9vlnRJL6RA
https://dl.doubtnut.com/l/_vGvUZKQZSUuE

Answer: A

o Watch Video Solution

38. The average of 12 numbers is 6. If a number
10 is removed, what will be the new average?
A. 5.63
B.5.25
C.4.75

D. 6.23


https://dl.doubtnut.com/l/_vGvUZKQZSUuE
https://dl.doubtnut.com/l/_PPLt4Dgxgr3V

Answer: A

o Watch Video Solution

39. The average of 15 numbers is 4. If a number

8 is removed, what will be the new average?

A4

B.3.71

C.3.53

D.3.25


https://dl.doubtnut.com/l/_PPLt4Dgxgr3V
https://dl.doubtnut.com/l/_fijGhoMKMOzA

Answer: B

o Watch Video Solution

40. What is the average of first 50 natural

numbers?

A.12.25

B. 21.25

C. 25

D. 25.5


https://dl.doubtnut.com/l/_fijGhoMKMOzA
https://dl.doubtnut.com/l/_hK6y0fcPFIrD

Answer: D

o Watch Video Solution

41. Average of all even numbers between 222

and 250 is

A. 234

B. 232

C. 236

D. 230


https://dl.doubtnut.com/l/_hK6y0fcPFIrD
https://dl.doubtnut.com/l/_BH5kLqaGr4qY

Answer: C

o Watch Video Solution

42. The average of 8 consecutive 8 integers is

3
5 What is the average of first three

integers?

C.8

D.10


https://dl.doubtnut.com/l/_BH5kLqaGr4qY
https://dl.doubtnut.com/l/_tfS2rrj34CWf

Answer: A

o Watch Video Solution

43. Find the average of all prime numbers

between 20 and 50.

A.35.857

B.35.657

C.34.857

D. 36.657


https://dl.doubtnut.com/l/_tfS2rrj34CWf
https://dl.doubtnut.com/l/_Vsp1OB2AGySc

Answer: A

o Watch Video Solution

44, The average of 6 consecutive integers is

DR What is the average of last three

integers?

A.8

B.9


https://dl.doubtnut.com/l/_Vsp1OB2AGySc
https://dl.doubtnut.com/l/_7FS1j6zm6jBR

Answer: B

o Watch Video Solution

45. What is the average of first 39 even

numbers?

A. 39

B.40

C. 20

D. 68


https://dl.doubtnut.com/l/_7FS1j6zm6jBR
https://dl.doubtnut.com/l/_mR0N3hPwPD5M

Answer: B

o Watch Video Solution

46. Of the three numbers whose average is 26,

the first is I times the sum of other two. The

first number is:

A.16

B.13

C. 1

D. 12


https://dl.doubtnut.com/l/_mR0N3hPwPD5M
https://dl.doubtnut.com/l/_Ov5yxflKonpm

Answer: D

o Watch Video Solution

47.The average of all odd numbers from 113 to

B.134

C.133

D. 136


https://dl.doubtnut.com/l/_Ov5yxflKonpm
https://dl.doubtnut.com/l/_Sul9D66NxOHa

Answer: D

o Watch Video Solution

48. What is the average of all the one digit and

two digit natural numbers?

A. 25

B.40

C.50

D. 99


https://dl.doubtnut.com/l/_Sul9D66NxOHa
https://dl.doubtnut.com/l/_lQGfvpq2fliR

Answer: C

o Watch Video Solution

49. Find the average of all prime numbers

from 1 to 50.

A. 21.867

B.22.857

C. 23.887

D. 24.867


https://dl.doubtnut.com/l/_lQGfvpq2fliR
https://dl.doubtnut.com/l/_m7ysn6xmQDdK

Answer: A

o Watch Video Solution

50. What will be the average of all the prime

numbers before 19?

A. 8.28

B.11.5

C.5.34

D.9.63


https://dl.doubtnut.com/l/_m7ysn6xmQDdK
https://dl.doubtnut.com/l/_CmgHnoQ2crdZ

Answer: A

o Watch Video Solution

51. Find the average of first 20 multiples of 9.

A.94.8
B.94.7
C.4.6

D.94.5

Answer: D


https://dl.doubtnut.com/l/_CmgHnoQ2crdZ
https://dl.doubtnut.com/l/_YFswbEbvN2a9

° Watch Video Solution

1. The average of 9 numbers is 30. The average

of first 5 numbers is 25 and that of the last 3

numbers is 35. What is the 6th number?

A. 20

B.30

C.40


https://dl.doubtnut.com/l/_YFswbEbvN2a9
https://dl.doubtnut.com/l/_Zj8GIASX4kUm

D. 50

Answer: C

° Watch Video Solution

2. The average of 15 numbers Is 7. If the
average of the first 8 numbers be 6.5 and the
average of last 8 numbers be 9.5, then the

middle number is:

A. 20


https://dl.doubtnut.com/l/_Zj8GIASX4kUm
https://dl.doubtnut.com/l/_C5HpGt5wwYs6

B. 21

C.23

D. 18

Answer: C

o Watch Video Solution

3. The average of 8 numbers is 20. The average
1
of first tow numbers is 15 3 and that of the

1
next three is 215. If the sixth number be less


https://dl.doubtnut.com/l/_C5HpGt5wwYs6
https://dl.doubtnut.com/l/_F84AsZjlHbt9

that the seventh and eight numbers by 4 and

7 respectively, then the eighth number is :

A.18

B. 22

C. 25

D. 27

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_F84AsZjlHbt9

4. The average of 20 numbers is 12. The
average of the first 12 numbers is 11 and that

of the next 7 numbers is 10. The last humber

A.40
B.38
C.48

D. 50

Answer: B

‘ o Wiak~lh \AAaA CAalii:ianm



https://dl.doubtnut.com/l/_8iN5CRPcPGY4

YVOCILLIL VI INAGINIE L )

5. Average of n numbers is a. The first number
is Increased by 2, second one is increased by 4,
the third one is Increased by 8 and so on. The

average of the new numbers Is:

Aat on-1 _ 1
.a 5
2(2" — 1
B.a + ( )
n
n—1
C.a +
n
2" — 1
D.a +



https://dl.doubtnut.com/l/_8iN5CRPcPGY4
https://dl.doubtnut.com/l/_2os4g5JesXr9

Answer: B

o Watch Video Solution

6. The average temperature of the first 4 days
of a week was 37°C and that of the last 4 days
of the week was 41°C. If the average
temperature of the whole week was 39°C, the

temperature of the fourth day was:

A.38°C

B.38.5°C


https://dl.doubtnut.com/l/_2os4g5JesXr9
https://dl.doubtnut.com/l/_6HJPcaTbRZEU

C.39°C

D.40° C

Answer: C

o Watch Video Solution

7. In a certain year, the average monthly
income of a person was Rs 3,400. For the first
eight months of the year, his average monthly

income was Rs 3,160 and for the last five


https://dl.doubtnut.com/l/_6HJPcaTbRZEU
https://dl.doubtnut.com/l/_ljlXixpV0vWx

months, it was Rs 4,120. His Income in the

eighth month of the year was

A.Rs 3,160

B. Rs 5,080

C.Rs 15,520

D.Rs 5,520

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_ljlXixpV0vWx

8. The average of 8 numbers is 21. If each of

the numbers is mulitl-plied by 8, the average

of the new set of numbers is :

A 21

B. 29

C.8

D. 168

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_FI55mpoYaf0s

9. The average of 11 results is 50. If the average
of the first six results is 52 and that of the last

six is 49, the sixth result is-

11 9RO &1 3Nd 50 g1 IfE 375 Ygel 6 gRomH}
&1 379 d 52 8l 31 3ifaH 6 &1 49 &1, a1 BaT uRkumy
BT gPm?

A. 48

B. 50

C.52

D. 56


https://dl.doubtnut.com/l/_JZaWxAlbfOCG

Answer: D

o Watch Video Solution

10. The average of eight successive numbers is

6.5. The average of the smallest and the

greatest numbers among them will be:

A 4

B.6.5

C.75

D.9


https://dl.doubtnut.com/l/_JZaWxAlbfOCG
https://dl.doubtnut.com/l/_kngFWqvtHljD

Answer: B

o Watch Video Solution

11. The average of three numbers is 135. The

largest number is 195 and the difference

between the other two is 20. The smallest

number is:

A. 65

B. 95

C.105


https://dl.doubtnut.com/l/_kngFWqvtHljD
https://dl.doubtnut.com/l/_jV1QlN22ioMy

D. 115

Answer: B

° Watch Video Solution

12. The average of two numbers is 8 and the

average of other three numbers is 3. The

average of the five numbers is:

A2

B.3


https://dl.doubtnut.com/l/_jV1QlN22ioMy
https://dl.doubtnut.com/l/_5NW8brQFCIPU

C.5

D.6

Answer: C

° Watch Video Solution

13. Out of four numbers, the average of the
first three is 15 and that of the last three is 16.

If the last number is 19, the first is

A.19


https://dl.doubtnut.com/l/_5NW8brQFCIPU
https://dl.doubtnut.com/l/_Dj2jdsshIm3k

B.15

C.16

D. 18

Answer: C

o Watch Video Solution

14. Three numbers are such that the average
of first two numbers is 2, the average of the

last two numbers is 3 and the average of the


https://dl.doubtnut.com/l/_Dj2jdsshIm3k
https://dl.doubtnut.com/l/_dqzdDvzZrefj

first and the last numbers is 4, then the

average of three numbers is equal to:

A2

B.3.5

C.3

D.25

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_dqzdDvzZrefj

15. The average of the largest and smallest 3

digit numbers formed by 0O, 2 and 4 would be

A. 312

B. 213

C. 222

D. 303

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_LABO7EJsDtbj
https://dl.doubtnut.com/l/_jPF4TUmCLVlx

16. The average of six numbers is 3.95. The

average of two of them is 3.4, while the

average of the other two is 3.85. The average

of the remaining two numbers is:

A. 4.6

B.4.5

C.4.8

D. 4.7

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_jPF4TUmCLVlx

17. Out of four numbers the average of the
first three is 16 and that of the last three is 15.

If the last number Is 20 then the first number

A. 23

B. 25

C.28

D. 21

Answer: A



https://dl.doubtnut.com/l/_jPF4TUmCLVlx
https://dl.doubtnut.com/l/_HlmxTuv7qzZU

\ o Watch Video Solution

18. The average of 16 numbers is 48. The
average of the first 7 numbers is 45 and the
average of the next 6 numbers is 52. If the 14th
number is 11 less than the 15th number and is
5 more than the 16th number, then the
average of the 15th and 16th number is:

16 A3 BT 3 48 & | Ugell 7 A3 &
3T 45 qAT 3PTE 6 a3l &1 3fwd 52 € | Afe
14 H&AT 150t T A 11 HH dUT 16dT TS I 5

31 &, af 1501 vd 16d) Team b1 30d o= g ?


https://dl.doubtnut.com/l/_HlmxTuv7qzZU
https://dl.doubtnut.com/l/_DmDhX6uzcE3O

A.47.5

B.48.5

C.49

D.48

Answer: D

o Watch Video Solution

19. The average of 22 numbers is 52. The
average of the first 8 numbers is 48 and the

average of next 11 numbers is 54. The 20th


https://dl.doubtnut.com/l/_DmDhX6uzcE3O
https://dl.doubtnut.com/l/_dae2K6Au99qQ

number is 7 less than the 21st number and
21st number is 4 more than 22nd number.
What is the average of the 20th and 22nd
numbers?

22 3N @1 3 52 § | Ugell 8 A3 Bl
3T 48 AAT 3PTE 11 T3l &1 39d 54 # |
20dt I 21 F@n § 7 HH & aur 219 dem
22°f) T T 4 31fAF g | 20a WA 3R 224 Tvem
DI 3TI ST B |

A.52
B.52.5

C.53


https://dl.doubtnut.com/l/_dae2K6Au99qQ

D.53.5

Answer: D

o Watch Video Solution

20. The average of twelve numbers is 42. The
average of the last five numbers is 40 and that
of the first four numbers is 44. The 6th
number is 6 less than the fifth and 5 less than
the 7th number. The average of the 5th and

the 7th numbers is:


https://dl.doubtnut.com/l/_dae2K6Au99qQ
https://dl.doubtnut.com/l/_6CTlFBaoPmog

IRE 3N &1 3fd 42 ¢ | 3iferd g T3 &1
39d 40 AT Ugell IR I3 &1 3d 44 § |
B! AT UrIdl ¥ 6 BH & T 7d] I F 5 HH &
| 5df 3% 7Y T &1 3Id & -

A. 44

B. 445

C.43

D.43.5

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_6CTlFBaoPmog

21. The average of thirteen numbers is 80. The
average of the first five numbers is 74.5 and
that of the next five numbers is 82.5. The 11th
number is 6 more than the 12th number and
the 12th number is 6 less than the 13th
number. What is the average of the 11th and
the 13th numbers?

g HSAI3N BT 3T 80 & | Ugcll Ui 130 Bl
37T 74.5 3R 3PTCl Uie T3 &1 31Id 82.5 § |

1Nt Feear 124 T I 6 31AS ¢ aUT 124) T


https://dl.doubtnut.com/l/_6CTlFBaoPmog
https://dl.doubtnut.com/l/_0TExbZtSf3Vh

13 Tvem A 6 HH & | 11t aur 13 dw=mi @
371Id STTd &y |

A. 87

B. 86

C.86.5

D. 875

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_0TExbZtSf3Vh

1. Of the three numbers whose average is 60,

the first is one fourth of the sum of the others.

The first number is :

A.30

B.36

C.42

D. 45

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_nriIUwARlrQF

2. Of the three numbers, second is twice the
first and also thrice the third. If the average of

the three numbers is 44, the largest number Is

A 24

B.72

C.36

D. 108

Answer: B


https://dl.doubtnut.com/l/_nriIUwARlrQF
https://dl.doubtnut.com/l/_bnXin9NFhwG2

° Watch Video Solution

3. The average of first three numbers is thrice

the fourth number. If the average of all the

four numbers is 5, then find the fourth

number.

A. 45

B.5

C.2

D.4


https://dl.doubtnut.com/l/_bnXin9NFhwG2
https://dl.doubtnut.com/l/_f2J3NmZEeYGU

Answer: C

o Watch Video Solution

4. Of the three numbers, the first nhumber is
twice of the second and the second is thrice of
the third number. If the average of these 3
numbers is 20, then the sum of the largest

and smallest numbers is:

A 24

B.42


https://dl.doubtnut.com/l/_f2J3NmZEeYGU
https://dl.doubtnut.com/l/_MrDhYx8bcnoI

C. 54

D. 60

Answer: B

o Watch Video Solution

5. If the arithmetic mean of 3a and 4b is
greater than 50, and a is twice b, then the

smallest possible Integer value of a is

A. 20


https://dl.doubtnut.com/l/_MrDhYx8bcnoI
https://dl.doubtnut.com/l/_hVl4lFWyVZKJ

B.18

C. 21

D. 19

Answer: C

o Watch Video Solution

6. Of three numbers, the first is 4 times the
second and 3 times the third. If the average of
all the three numbers is 95, what is the third

number ?


https://dl.doubtnut.com/l/_hVl4lFWyVZKJ
https://dl.doubtnut.com/l/_OjReXOBHmkj1

A.76

B. 60

C.130

D. 57

Answer: B

° Watch Video Solution

7. Among three numbers, the first is twice the

second and thrice the third. If the average of


https://dl.doubtnut.com/l/_OjReXOBHmkj1
https://dl.doubtnut.com/l/_22VmANPFMfi9

the three numbers is 49.5, then the difference

between the first and the third number is:

A. 54

B. 28

C.395

D. 41.5

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_22VmANPFMfi9

8. Of the three numbers, the first is twice the
second, and the second is twice the third. The
average of the reciprocal of the numbers is
——.The numbers are:
12

A. 20,10,5

B. 4,2,

C.36,18,9

D. 16,8,4

Answer: B

‘ ° Wiadk lh \AAaA CAaliikianm



https://dl.doubtnut.com/l/_qiyrCFy2Dd3Z
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9. The average of 11 numbers is 7. If every
number is doubled, what will be the new
average of the numbers?

A.35

B.7

C.10.5

D. 14

Answer: D

| s |


https://dl.doubtnut.com/l/_qiyrCFy2Dd3Z
https://dl.doubtnut.com/l/_tJERQCeRKuOt

| ¥ Watch Video Solution ]

10. Of the three numbers whose average is 40,

the first is 3 rd of o the sum of other two.

What is the first number?

A. 20

B. 50

C.25

D. 30

Answer: D



https://dl.doubtnut.com/l/_tJERQCeRKuOt
https://dl.doubtnut.com/l/_Y01VRu2TJdfX

\ o Watch Video Solution

1. The average of marks of 14 student was

calculated as 71. But It was later found that
the marks of one student had been wrongly
entered as 42 instead of 56 and of another as

74 instead of 32. The correct average is:

A. 67

B. 68


https://dl.doubtnut.com/l/_Y01VRu2TJdfX
https://dl.doubtnut.com/l/_RErx8V8PUfeu

C. 69

D. 71

Answer: C

o Watch Video Solution

2. The average marks of 72 students is shown
as 69. It Includes a wrong entry of 45 marks

instead of 54 marks. The correct average is:

A. 68.875 marks


https://dl.doubtnut.com/l/_RErx8V8PUfeu
https://dl.doubtnut.com/l/_17py7TJS7sKe

B. 69.125 marks

C. 68.625 marks

D. 69.375 marks

Answer: B

o Watch Video Solution

3. The average of 50 numbers is 38. If the two
numbers 45 and 55 are not considered, what

will be the average of remaining numbers?


https://dl.doubtnut.com/l/_17py7TJS7sKe
https://dl.doubtnut.com/l/_7gmnMqdisQfE

A.37.5

B.37.9

C.36.5

D. 37

Answer: A

o Watch Video Solution

4.The average weight of 15 students in a class
increases by 1.5kg when one of the students

weighing 40 kg is replaced by a new student.


https://dl.doubtnut.com/l/_7gmnMqdisQfE
https://dl.doubtnut.com/l/_hXm3fBVlYCga

What is the weight (in kg) of the new student

?

A. 64.5 kg

B. 56 kg

C.60 kg

D. 62.5 kg

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_hXm3fBVlYCga

5. The average of six numbers is 20. If one

number is removed, the average becomes 15.

What is the number removed ?

A5

B.35

C. 12

D. 45

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_GZN4DoST47e5

6. The average of 25 observations is 13. It was

later found that an observation 73 was

wrongly entered as 48. The new average is:

A.12.6

B.14

C.15

D.13.8

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_6f4DS5DJkFTy

7. While finding the average of 10 given
numbers, a student, by mistake, wrote 64 in
place of a number 46 and got his correct
average 50. The correct average of the given
numbers is :

A.48.2

B.48.3

C. 4911

D.49.3

Answer: A


https://dl.doubtnut.com/l/_P0NSRybb0DVc

° Watch Video Solution

8. A boy found that the average of 20 numbers

is 35 when he writes a number '61' instead of

"16'. The correct average of 20 numbers is:

A.32.75

B.36.25

C.34.75

D. 34.25

Answer: A


https://dl.doubtnut.com/l/_P0NSRybb0DVc
https://dl.doubtnut.com/l/_D2OyUepDhxdS

° Watch Video Solution

9. A student finds the average of ten 2-digit
numbers. While copying numbers, by mistake,
he writes one number with its digits
interchanged. As a result his answer is 1.8 less
than the correct answer. The difference of the
digits of the number, in which he made

mistake, is :

A2

B.3


https://dl.doubtnut.com/l/_D2OyUepDhxdS
https://dl.doubtnut.com/l/_aG3tD88FuCW4

C.4

D.6

Answer: A

o Watch Video Solution

10. The average marks obtained by a student
in 6 subjects is 88. On subsequent verification
it was found that the marks obtained by him

in a subject was wrongly copied as 86 Instead


https://dl.doubtnut.com/l/_aG3tD88FuCW4
https://dl.doubtnut.com/l/_9Bjar6K9H60m

of 68. The correct average of the marks

obtained by him is:

A. 87

B. 85

C. 84

D. 86

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_9Bjar6K9H60m

11. Average marks of 100 students of a class is

58. Later it was found that 86 was mistakenly

written as 68. Find the actual average.

A. 58.18

B.57.82

C. 58.81

D. 57.28

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_e7BguXZlpyfr

12. Average price of f 100 articles is 46. Later it

was found that 16 was read as 61 and 43 was

read as 34 and the articles were 90 instead of

100. Find the actual average.

A. 50

B. 50.7

C.52

D. 52.7

Answer: B

‘ o Watch Video Solution


https://dl.doubtnut.com/l/_fBXdoSDzmXUF

13. In an exam, the average marks obtained by
the students was found to be 60. After
omission of computational errors, the average
marks of some 100 candidates had to be
changed from 60 to 30 and the average with
respect to all the examinees came down to 45
marks. The total number of candidates who

took the exam, was

A. 200

B. 210


https://dl.doubtnut.com/l/_fBXdoSDzmXUF
https://dl.doubtnut.com/l/_UFVyQMb5WN7K

C.240

D. 180

Answer: A

o Watch Video Solution

14. The average marks of 40 students in an
examination was 25. It was later found that
the marks of one student had been wrongly
entered as 73 instead of 37. What is the value

of correct average ?


https://dl.doubtnut.com/l/_UFVyQMb5WN7K
https://dl.doubtnut.com/l/_KSI47svB2LYd

A. 243

B. 24.

C.24.5

D. 24.7

Answer: B

° Watch Video Solution

15. The average weight of 20 students in a

class is increased by 0.75 kg when one of the


https://dl.doubtnut.com/l/_KSI47svB2LYd
https://dl.doubtnut.com/l/_ILfV55emfa4d

students weighing 30 kg is replaced by a new

student. Weight of the new student (in kg) is :

A. 35

B.40

C.45

D. 50

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_ILfV55emfa4d

16. There are 50 students in a class. One of
them weighing 50 kg goes away and a new
student joins. By this the average weight of
the class Increases by % kg. The weight of the

new student is:

A.70 kg
B.72 kg
C.75kg

D. 76 kg

Answer: C


https://dl.doubtnut.com/l/_tuTLmbWyM2uU

o Watch Video Solution

17. The average weight of 12 crewmen in a boat
is increased by 3 kg, when one of the
crewmen whose weight is 55kg is replaced by a
new man. What is the weight of that new

man?

A. 58 kg
B. 60 kg

C.57 kg


https://dl.doubtnut.com/l/_tuTLmbWyM2uU
https://dl.doubtnut.com/l/_UyW4QDWYgeAP

D. 59 kg

Answer: D

o Watch Video Solution

18. The average marks obtained by 22
candidates in an examination are 45. The
average marks of the first 10 candidates are 55
and those of the last eleven are 40. The
number of marks obtained by the eleventh

candidate is:


https://dl.doubtnut.com/l/_UyW4QDWYgeAP
https://dl.doubtnut.com/l/_rxhyA5Mep6jp

A. 45

B.O

C.50

D.47.5

Answer: B

o Watch Video Solution

19. The mean of 20 items is 55. If two items 45
and 30 are removed, the new mean of the

remaining items is:


https://dl.doubtnut.com/l/_rxhyA5Mep6jp
https://dl.doubtnut.com/l/_JOs0v0eSXZCI

A. 6511

B.65.3

C.56.9

D. 56

Answer: C

o Watch Video Solution

20. The average marks obtained by 40
students of a class is 86. If the 5 highest marks

are removed, the average reduces by one


https://dl.doubtnut.com/l/_JOs0v0eSXZCI
https://dl.doubtnut.com/l/_aEcRZajvjX8G

mark. The average marks of the top 5 students

IS:

A. 92

B. 96

C.93

D. 97

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_aEcRZajvjX8G

21. The average marks of 50 students in an
examination was 65. It was later found that
the marks of one student had been wrongly
entered as 83 instead of 38. The correct
average is?

A. 639

B. 64.5

C.64.7

D. 64.1

Answer: D


https://dl.doubtnut.com/l/_KnbGsW87oTt6

° Watch Video Solution

22.The average of 50 results was calculated as

30 but later it was found that while

calculating, 73 was taken as 33 by mistake,

then what will be the correct average?

A. 29.2

B.30.8

C.31.6

D. 34


https://dl.doubtnut.com/l/_KnbGsW87oTt6
https://dl.doubtnut.com/l/_hfobxERSLcT7

Answer: B

o Watch Video Solution

23. The average of 45 results was calculated as
27 but later it was found that while calculating
39 was taken as 93 by mistake, then what will
be the correct average?

A. 258

B. 26.8

C.27.2


https://dl.doubtnut.com/l/_hfobxERSLcT7
https://dl.doubtnut.com/l/_0DrQntqb1w7A

D. 28.2

Answer: A

° Watch Video Solution

24.In class IX. the average marks of 6 students
In science were 48. After the declaration of
result, it was observed that the number 45 of
a student was misread as 54. The correct

average is:

A.76.5


https://dl.doubtnut.com/l/_0DrQntqb1w7A
https://dl.doubtnut.com/l/_FqfLmWfqHhqR

B.46.4

C.46.5

D.64.9

Answer: C

o Watch Video Solution

1. The average of five numbers is 27. If one

number is excluded, the average becomes 25.


https://dl.doubtnut.com/l/_FqfLmWfqHhqR
https://dl.doubtnut.com/l/_FHiZ0h9lX4xa

The excluded number is:

A. 25

B. 27

C.30

D. 35

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_FHiZ0h9lX4xa

2. The average of marks of 28 students in
Mathematics was 50, 8 students left the
school, then this average increased by 5. What
is the average of marks obtained by the
students who left the school?

A.50.5

B.37.5

C.425

D. 45

Answer: B


https://dl.doubtnut.com/l/_G60pnZVZKRsY

o Watch Video Solution

3. The average weight of 12 articles is 18 kg.
Addition of another new article reduces the
average weight by 500g. What is the weight of
the new article?

12 G371 P1 379d I3 18 fovell IH & | Th 31
T 93 & M B A 39 g5 500 ITH BH

&1 STl & | 70t o b1 a1 ST B |

A. 1.50 kg

B. 110 kg


https://dl.doubtnut.com/l/_G60pnZVZKRsY
https://dl.doubtnut.com/l/_TV36gjcfVe18

C.115kg

D. 1.01 kg

Answer: C

o Watch Video Solution

4. If the mean of 4 observations is 20, when a
constant 'C' is added to each observation, the

mean becomes 22. The value of Cis :

A.6


https://dl.doubtnut.com/l/_TV36gjcfVe18
https://dl.doubtnut.com/l/_donjdvRL7X8l

C.2

D.4

Answer:

o Watch Video Solution

5. There are 50 students in a class. Their
average weight is 45 kg. When one student

leaves the class the average weight reduces by


https://dl.doubtnut.com/l/_donjdvRL7X8l
https://dl.doubtnut.com/l/_PkVvJDxSXAHY

100g. What is the weight of the student who

left the class ?

A. 45 kg

B.47.9 kg

C.49.9kg

D. 50.1 kg

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_PkVvJDxSXAHY

6. Average weight of 25 students of a class is
50 kg. If the weight of the class teacher is
included, the average is increased by 1 kg. The
weight of the teacher is:

A. 76 kg

B.77 kg

C.74 kg

D. 75 kg

Answer: A

‘ ° Wiadk Al \tAAA CAaliikianm



https://dl.doubtnut.com/l/_RhvVqE8xbRkZ
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7. There are 35 students in a hostel. If the
number of students increases by 7, then the
expenses of the mess increased by Rs. 42 per
day while the average expenditure per head
diminishes by Re. 1. Find the original

expenditure of the mess.

A.Rs 400

B. Rs 432

C.Rs 442


https://dl.doubtnut.com/l/_RhvVqE8xbRkZ
https://dl.doubtnut.com/l/_NiWyryMGgxBm

D.Rs 420

Answer: D

° Watch Video Solution

8. The average weight of 40 children of a class
is 36.2 kg. When three more children with
weight 42.3 kg, 39.7 kg and 39.5 kg join the
class, the average weight of the 43 children In

the class Is:

A.39.2 kg


https://dl.doubtnut.com/l/_NiWyryMGgxBm
https://dl.doubtnut.com/l/_47THil5KhfzU

B. 36.5 kg

C.3835kg

D.37.3 kg

Answer: B

o Watch Video Solution

9. In a class, the average score of girls in an
examination is 73 and that of boys is 71. The
average score for the whole class Is 71.8. Find

the percentage of girls.


https://dl.doubtnut.com/l/_47THil5KhfzU
https://dl.doubtnut.com/l/_1cKCZRLwyHwX

A.04

B.0.5

C.0.55

D. 0.6

Answer: A

° Watch Video Solution

10. The average of five numbers is 7. When

three new numbers are included, the average


https://dl.doubtnut.com/l/_1cKCZRLwyHwX
https://dl.doubtnut.com/l/_pWZPWQuvlAPN

of the eight numbers becomes 8.5. The

average of the three new numbers is:

A9

B.10.5

C. 1

D.11.5

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_pWZPWQuvlAPN

11. The average of six numbers is 32. If each of
the first three numbers is increased by 2 and
each of the remaining three numbers is
decreased by 4, then find the new average.
A.35
B. 34

C. 31

D. 30

Answer: C

‘ ° Wiak~hh \tAAA CAaliikianm



https://dl.doubtnut.com/l/_BlYXeNWRzGX2
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12. A student finds the average of 10, 2 - digit
numbers. If the digits of one of the numbers is
interchanged, the average Increases by 3.6.
The difference between the digits of the 2-
digit numbers is:

A 4

B.3

C.2

D.5


https://dl.doubtnut.com/l/_BlYXeNWRzGX2
https://dl.doubtnut.com/l/_bblzMDOe1Uu5

Answer: A

o Watch Video Solution

13. The average of 30 numbers is 106. Later it
was found that two numbers 82 and 136 were
wrongly taken as 92 and 186 for calculation of

average. What is the correct average?

A. 104
B.103.5

C.102.5


https://dl.doubtnut.com/l/_bblzMDOe1Uu5
https://dl.doubtnut.com/l/_F6SaaCzVbr1F

D. 101

Answer: A

o Watch Video Solution

1. A cricketer whose bowling average is 24.85,
runs per wicket, takes 5 wickets for 52 runs

and thereby decreases his average by 0.85. The


https://dl.doubtnut.com/l/_F6SaaCzVbr1F
https://dl.doubtnut.com/l/_MdNBPf1HoFAT

number of wickets taken by him till the last

match was:

A. 64

B.72

C. 80

D. 96

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_MdNBPf1HoFAT

2.The average of runs of a cricket player of 10
innings was 32. How many runs must he make
in his next Innings so as to increase his
average of runs by 4 ?

A.76

B.70

C.4

D. 2

Answer: A

‘ o Wiak~lh \tAAA CAaliikianm



https://dl.doubtnut.com/l/_e59RHgFotn1K
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3. The averages of runs scored by a cricket
player In 11 innings is 63 and the average of his
first six innings Is 60 and the average of last
six Innings is 65. Find the runs scored by him
in the sixth Innings.

A. 60

B. 54

C. 67

D. 57


https://dl.doubtnut.com/l/_e59RHgFotn1K
https://dl.doubtnut.com/l/_D6BYHCZXULtQ

Answer: D

o Watch Video Solution

4. A cricketer had a certain average of runs for
his 64 innings. In his 65th innings, he Is
bowled out for no score on his part. This
brings down his average by 2 runs. His new

average of runs is:

A. 130

B. 128


https://dl.doubtnut.com/l/_D6BYHCZXULtQ
https://dl.doubtnut.com/l/_fhOXojCvboIY

C.70

D. 68

Answer: B

o Watch Video Solution

5. A cricketer has a certain average of runs for
his 8 innings. In the ninth Innings, he scores
100 runs, thereby Increases his average by 9

runs. His new average of runs Is:


https://dl.doubtnut.com/l/_fhOXojCvboIY
https://dl.doubtnut.com/l/_YevW0QD4NDFX

A. 20

B. 24

C.28

D. 32

Answer: C

o Watch Video Solution

6. A cricket batsman had a certain average of
runs for his 11 innings. In the 12th innings, he

made a score of 90 runs and thereby his


https://dl.doubtnut.com/l/_YevW0QD4NDFX
https://dl.doubtnut.com/l/_xNgpKH2ST111

average of runs was decreased by 5. His

average of runs after 12th innings is:

A. 155

B. 150

C.145

D. 140

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_xNgpKH2ST111

7. Average runs scored by 11 players of a cricket
team is 23. If the first player scored 113 runs.
Find the average runs of the remaining
players.

A. 8 runs

B. 12 runs

C. 14 runs

D. 27 runs

Answer: C

‘ o Wiak hh \iAAA CAaliikianm



https://dl.doubtnut.com/l/_YrzEUc13wM2a
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8. If the average of 64 innings of a batsman is
62. If highest and lowest innings are excluded
then the average of remaining 62 innings is
60. If the difference between highest and
lowest innings is 180 runs. Find his highest

and lowest score.

A. 180 runs

B. 209 runs

C. 212 runs


https://dl.doubtnut.com/l/_YrzEUc13wM2a
https://dl.doubtnut.com/l/_EvWhP0V5Tl12

D. 214 runs

Answer: D

° Watch Video Solution

9. The average of runs scored by a cricketer in
his 99 innings is 99. How many runs will he
have to score in his 100th Innings so that his

average of runs in 100 innings may be 1007

A. 100


https://dl.doubtnut.com/l/_EvWhP0V5Tl12
https://dl.doubtnut.com/l/_clp3jdxBMJ8k

B. 99

C. 199

D. 101

Answer: C

o Watch Video Solution

10. A cricketer has a mean score of 60 runs in
10 innings. Find out how many runs are to be
scored in the eleventh innings to raise the

mean score to 627


https://dl.doubtnut.com/l/_clp3jdxBMJ8k
https://dl.doubtnut.com/l/_Ka0mURmyzapd

A. 83

B. 82

C. 80

D. 81

Answer: B

° Watch Video Solution

11.In a 20 over match, the required run rate to

win is 7.2. If the run rate is 6 at the end of the


https://dl.doubtnut.com/l/_Ka0mURmyzapd
https://dl.doubtnut.com/l/_fZ0CUzUkFGEf

15th over, the required run rate to win the

match is:

A 1.2

B.13.2

C.10.8

D. 12

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_fZ0CUzUkFGEf

12. In the first 10 overs of a cricket game, the
run rate was only 3.2. The run rate in the
remaining 40 overs to reach the target of 282
runs is

A.64

B.6.3

C.6.25

D. 6.5

Answer: C

‘ o Wiak~lh \AAaA CAaliikianm



https://dl.doubtnut.com/l/_CZSdkA2H7lRY
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13. The batting average for 30 Inings of a
cricket player is 40 runs. His highest score
exceeds his lowest score by 100 runs. If these
two innings are not included, the average of
the remaining 28 innings is 38 runs. The

lowest score of the player Is :

A. 15

B.18

C. 20


https://dl.doubtnut.com/l/_CZSdkA2H7lRY
https://dl.doubtnut.com/l/_BZQhTDTzt6xC

D. 12

Answer: B

° Watch Video Solution

14. Sachln Tendulkar has a certain average for
11 innings. In the 12th innings he scores 120
runs and thereby Increases his average by 5

runs. His new average ls:

A. 60


https://dl.doubtnut.com/l/_BZQhTDTzt6xC
https://dl.doubtnut.com/l/_KABNpjaRktVE

B. 62

C.65

D. 66

Answer: C

o Watch Video Solution

15. A cricketer, whose bowling average was 12.4
runs/wicket takes 5 wickets for 22 runs in a

match, thereby decreases his average by 04.


https://dl.doubtnut.com/l/_KABNpjaRktVE
https://dl.doubtnut.com/l/_gMLlrb5ZnFJ2

The number of wickets, taken by him before

this match was :

A.78

B. 87

C.95

D. 105

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_gMLlrb5ZnFJ2

16. A batsman makes a score of 87 runs In the

17th Innings and thus Increased his average by

3. Find his average after 17th innings.

A. 39

B. 87

C.90

D. 84

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_9AqHo3Vlkb4j

17. In the first 30 overs of a cricket match, the

run rate was 5.2 runs/over. What Is the

required run rate In the remaining 20 overs to

reach the target of280 runs ?

A. 638

B.74

C.6.2

D.5.6

Answer: C

‘ o Watch Video Solution


https://dl.doubtnut.com/l/_6OKwLh84P2nF

18. In a match, average of runs scored by five
players Is 49. If the runs scored by four players
are 75, 30, 62 and 21 respectively, then how
many runs did the fifth player score?

A. 43

B. 49

C.57

D. 89


https://dl.doubtnut.com/l/_6OKwLh84P2nF
https://dl.doubtnut.com/l/_ytUMs0vik1yL

Answer: C

o Watch Video Solution

19. The average runs scored by a batsman In 7
matches Is 53 and In other 9 matches the
average Is 33. What is the average runs scored
by the batsman In 16 matches?

A.41.75

B.44.25

C.47


https://dl.doubtnut.com/l/_ytUMs0vik1yL
https://dl.doubtnut.com/l/_NQBFZt6MlPNO

D.49.175

Answer: A

° Watch Video Solution

20. A batsman makes a score of 81 runs in the
16th match and thus Increases his average
runs per match by 3. What Is his average after

the 16th match?

A. 35


https://dl.doubtnut.com/l/_NQBFZt6MlPNO
https://dl.doubtnut.com/l/_2GsniAXkl0Vn

B. 34

C.33

D. 36

Answer: D

o Watch Video Solution

21. A batsman scores 98 runs In the 17th match
of his career. His average runs per match
increased by 2.5. What is his average before

the 17th match?


https://dl.doubtnut.com/l/_2GsniAXkl0Vn
https://dl.doubtnut.com/l/_62CZesV4Fh0n

A. 58

B. 60.5

C.63

D. 55.5

Answer: D

o Watch Video Solution

22. In a one day match of 50 overs in an
innings the Team A had a run rate of 6.1 runs

per over. Team B is playing and 10 overs are


https://dl.doubtnut.com/l/_62CZesV4Fh0n
https://dl.doubtnut.com/l/_m6Ox5EpkQTsA

left and the required run rate to tie the match

is 6.5 per over. What is Team B's score now ?

A. 235

B. 230

C. 240

D. 225

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_m6Ox5EpkQTsA

1. The average age of 14 girls and their

teacher's age is 15 years. If the teacher's age is

excluded, the average reduces by 1. What is

the teacher's age?

A. 35 years

B. 32 years

C. 30 years

D. 29 years

Answer: D



https://dl.doubtnut.com/l/_Llua7nDtfhcO

\ o Watch Video Solution

2. The average age of four brothers is 12 years.
If the age of their mother is also Included, the
average is increased by 5 years. The age of the
mother (in years) is :

A. 37 years

B. 43 years

C. 48 years

D. 53 years


https://dl.doubtnut.com/l/_Llua7nDtfhcO
https://dl.doubtnut.com/l/_DHGiRMktRBGP

Answer: A

o Watch Video Solution

3. The average age of 8 persons is increased by
2 years, when one of them, whose age is 24
years Is replaced by a new person. The age of
the new person is :

A. 42 years

B. 40 years

C. 38 years


https://dl.doubtnut.com/l/_DHGiRMktRBGP
https://dl.doubtnut.com/l/_GJfHMG7WI5lW

D. 45 years

Answer: B

° Watch Video Solution

4. The average age of 8 men is increased by 2
years when two of them whose age are 21 and
23 years replaced by two new men. The

average age of the two new men is

A. 22 years


https://dl.doubtnut.com/l/_GJfHMG7WI5lW
https://dl.doubtnut.com/l/_YeAOZAjnrryA

B. 24 years

C. 28 years

D. 30 years

Answer: D

o Watch Video Solution

5. The average age of eleven players of a
cricket team decreases by 2 months when two

new players are included in the team replacing


https://dl.doubtnut.com/l/_YeAOZAjnrryA
https://dl.doubtnut.com/l/_l1AObrdyDzgF

two players of age 17 years and 20 years. The

average age of new player is

A. 17 years 1 month

B. 17 years 7 months

C. 17 years 11 months

D. 18 years 3 months

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_l1AObrdyDzgF

6. The average age of 20 boys in a class is 12
years. 5 new boys are admitted to the class
whose average age is 7 years. The average age
of the boys in the class becomes

A. 8.2 years

B. 9.5 years

C.12.5 years

D. 11 years

Answer: D

‘ ° Wiak~lh \tAAA CAaliikianm



https://dl.doubtnut.com/l/_kyja1ROE6u3m
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7. The sum of the ages of mother and her

daughter is 60 years. 12 years ago the mother

was eight times as old as her daughter. How

old is the daughter at present?

A. 20 years

B. 28 years

C. 16 years

D. 12 years


https://dl.doubtnut.com/l/_kyja1ROE6u3m
https://dl.doubtnut.com/l/_1asBcZq9Ek07

Answer: C

o Watch Video Solution

8. Out of 10 teachers of a school, one teacher
retires and at his place a new teacher of age
25 years joins. As a result of it, the average age
of the teachers is reduced by 3 years. The age

of the retired teacher is:

A. 60 years

B. 58 years


https://dl.doubtnut.com/l/_1asBcZq9Ek07
https://dl.doubtnut.com/l/_pFpg0RSNMU5q

C. 56 years

D. 55 years

Answer: D

o Watch Video Solution

9. The average age of eight teachers in a
school is 40 years. A teacher among them died
at the age of 55 years whereas another

teacher whose age was 39 years joins them.


https://dl.doubtnut.com/l/_pFpg0RSNMU5q
https://dl.doubtnut.com/l/_FhJVdTQLmZDo

The average age of the teachers In the school

now is (in years)

A. 35

B.36

C.38

D. 39

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_FhJVdTQLmZDo

10. The present average age of a family of four
members Is 36 years. If the present age of the
youngest member of the family be 12 years,
the average age of the family at the birth of
the youngest member was:

A. 48 years

B. 40 years

C. 32 years

D. 24 years

Answer: C


https://dl.doubtnut.com/l/_AFyNf9LNysNQ

o Watch Video Solution

11. The average age of 40 students of a class Is
18 years. When 20 new students are admitted
to the same class, the average age of the
students of the class is Increased by 6 months.

The average age of newly admitted student is:

A. 19 years

B. 19 years 6 months

C. 20 years


https://dl.doubtnut.com/l/_AFyNf9LNysNQ
https://dl.doubtnut.com/l/_0bsvSzLabKzb

D. 20 years 6 months

Answer: B

° Watch Video Solution

12. If the average age of four children is 12
years and the average age of these children
and their father is 20 years, what is the age of

the father ?

A. 52 years


https://dl.doubtnut.com/l/_0bsvSzLabKzb
https://dl.doubtnut.com/l/_9oLPrGPzw9DA

B. 48 years

C. 62 years

D. 54 years

Answer: A

o Watch Video Solution

13. The average age of a family of 10 members
is 20 years. If the age of the youngest member
of the family Is 10 years, then the average age

of the members of the family Just before the


https://dl.doubtnut.com/l/_9oLPrGPzw9DA
https://dl.doubtnut.com/l/_DwsT9PLdEpSV

birth - of the youngest

approximately

A. 2714 years
B. 12.5 years

C.14.28 years
D. 11 !
: — r
9 years

Answer: D

member

was

o Watch Video Solution



https://dl.doubtnut.com/l/_DwsT9PLdEpSV

14. The average age of four boys A, B, C and D

is 5 years and the average age of A,B,D,E is 6

years. C is 8 years old. The age of E is (In years)

A. 12

B.13

C.14

D. 15

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_YGO94DnYDl4r

15. 5 years ago, the average age of P and Q was

15 years. Average age of P, Q and R today Is 20

years. How old will R be after 10 years?

A. 35 years

B. 40 years

C. 30 years

D. 50 years

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_30Zfu1ppSjbc

16. The average age of a husband and his wife
was 23 years at the beginning of their
marriage. After five years they have a one-year
old child. The average age of the family of
three, when the child was born, was

A. 23 years

B. 24 years

C. 18 years

D. 20 years

Answer: C


https://dl.doubtnut.com/l/_Ut4VAvvzIa3r

o Watch Video Solution

17. From a class of 42 boys, a boy aged 10 years
goes away and in his place, a new boy is
admitted. If on account of this change, the
average age of the boys in that class increases

by 2 months, the age of the newcomer is :

A. 19 years

B. 17 years

C. 10 years 6 months


https://dl.doubtnut.com/l/_Ut4VAvvzIa3r
https://dl.doubtnut.com/l/_gXv1ysQhQCw4

D. 12 years 2 months

Answer: B

° Watch Video Solution

18. The average age of Ram and his two
children is 17 years and the average age of
Ram's wife and the same children is 16 years. If
the age of Ram is 33 years, the age of his wife

is (In years):

A. 31


https://dl.doubtnut.com/l/_gXv1ysQhQCw4
https://dl.doubtnut.com/l/_uFpwzvGEjT8x

B.32

C.35

D. 30

Answer: D

o Watch Video Solution

19. The average age of A and B is 20 years. If A
is to be replaced by C, the average would be 19
years. The average age of C and A is 21 years.

The ages of A, B and C In order (in years) are:


https://dl.doubtnut.com/l/_uFpwzvGEjT8x
https://dl.doubtnut.com/l/_pKPko7I4diuP

A.18, 22,20

B. 18, 20, 22

C. 22,18, 20

D. 22, 20,18

Answer: C

o Watch Video Solution

20. In a family of 5 members, the average age

at present Is 33 years. The youngest member is


https://dl.doubtnut.com/l/_pKPko7I4diuP
https://dl.doubtnut.com/l/_3GOKqq7Hq4Yt

9 years old. The average age of the family Just

before the birth of the youngest member was

A. 30 years

B. 29 years

C. 25 years

D. 24 years

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_3GOKqq7Hq4Yt

21. Ram is 20 years younger than Shyam. 5
years ago, the ratio of their ages was 3:5. The
sum of their present ages is :

A. 75 years

B. 80 years

C. 90 years

D. 95 years

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_qbxDmSSDfEoM

22. The average age of 30 boys in a class is 15
years. One boy, aged 20 years, left the class,
but two new boys came In his place whose age
differ by 5 years. If the average age of all the
boys now in the class becomes 15 years, the

age of the younger newcomer s :

A. 20 years

B. 15 years

C. 10 years

D. 8 years


https://dl.doubtnut.com/l/_t2xX3dJItm5Q

Answer: B

o Watch Video Solution

23. 3 years ago, the average age of a family of
5 members was 17 years. A baby having been
born, the average age of the family is the same
today. The present age of the baby is :

A. 2 years

B. 2.4 years

C. 3 years


https://dl.doubtnut.com/l/_t2xX3dJItm5Q
https://dl.doubtnut.com/l/_RK3TgmT1JInj

D. 1.5 years

Answer: A

° Watch Video Solution

24. Average age of 6 sons of a family is 8 years.
Average are cf sons together with their
parents is 22 years. If the father is older than
the mother by 8 years, the age of mother (in

years) is :

A. 44


https://dl.doubtnut.com/l/_RK3TgmT1JInj
https://dl.doubtnut.com/l/_MDinT5tLLnPn

B.52

C.60

D. 68

Answer: C

o Watch Video Solution

25. Out of 10 teachers of a school, one teacher
retires and at his place a new teacher of age

25 years joins. As a result of it, the average age


https://dl.doubtnut.com/l/_MDinT5tLLnPn
https://dl.doubtnut.com/l/_zy6TsDTkUcXj

of the teachers is reduced by 3 years. The age

of the retired teacher is:

A. 50 years

B. 55 years

C. 58 years

D. 60 years

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_zy6TsDTkUcXj

26. Seven years ago, the average age of A, B
and C was 51 years. If A is 3 years older than B
and B is 3 years older than C then the present
ages of A, B and C are (in years)

A. 61,58 and 55

B. 54, 51,and 48

C. 55, 58, and 61

D. 48, 51 and 54

Answer: A

‘ ° Wiak~lh \AAA CAaliikianm



https://dl.doubtnut.com/l/_ESlJgXHZwakx
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27.The average age of 45 persons is decreased

1
by g vear when one of them of 60 years is

replaced by a new comer. Then the age of the
new comer is :

A. 45 years

B. 55 years

C. 59 years

D. 49 years


https://dl.doubtnut.com/l/_ESlJgXHZwakx
https://dl.doubtnut.com/l/_CQI4XOoxNnJA

Answer: B

o Watch Video Solution

28. At the time of marriage of a son the
average of age of mother, father and son is 42
yrs. After one year of marriage a baby is born
when the baby turns 5 years old then the
average age of whole family is 36 years. Find
the age of their daughter-in-law at the time of

her marriage.


https://dl.doubtnut.com/l/_CQI4XOoxNnJA
https://dl.doubtnut.com/l/_HHVtlaxg09iR

A. 26 years

B. 25 years

C. 24 years

D. 23 years

Answer: C

o Watch Video Solution

29. The average age of 24 students is 12 years.
It was observed that while calculating the

average age, the age of a student was taken as


https://dl.doubtnut.com/l/_HHVtlaxg09iR
https://dl.doubtnut.com/l/_Vq0KRw51N4x9

14 years instead of 8 years. What will be the

correct average age (in years)?

A.11.25

B.11.5

C.11.75

D.12.25

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_Vq0KRw51N4x9

30. There were 24 students in a class. One of
them, who was 18 years old, left the class and
his place was filled up by a newcomer. If the
average of the class thereby, was lowered by
one month, the age of the newcomer is:

A. 14 years

B. 15 years

C. 16 years

D. 17 years

Answer: C


https://dl.doubtnut.com/l/_OAQ6oswfTyoU

° Watch Video Solution

31. From a class of 24 boys, a boy, aged 10
years, leaves the class and in his place a new
boy is admitted. As a result, the average age of
the class is Increased by 2 months. What is the

age of the new boy ?

A. 12 years

B. 15 years

C. 14 years


https://dl.doubtnut.com/l/_OAQ6oswfTyoU
https://dl.doubtnut.com/l/_1R3VYyp201k4

D. 13 years

Answer: C

° Watch Video Solution

32. 5 years ago, the average age of A, B, C and
D was 45 years. With E joining them now, the
average age of all the five is 49 years. How old

isE?

A. 25 years


https://dl.doubtnut.com/l/_1R3VYyp201k4
https://dl.doubtnut.com/l/_j5Up7oizlC4E

B. 40 years

C. 45 years

D. 64 years

Answer: C

o Watch Video Solution

33.In a family, the average age of a father and
a mother is 35 years. The average age of the
father, mother and their only son is 27 years.

What is the age of the son?


https://dl.doubtnut.com/l/_j5Up7oizlC4E
https://dl.doubtnut.com/l/_IOrbayXmt1mP

A. 12 years

B. 11 years

C. 5 years

D. 10 years

Answer: B

o Watch Video Solution

34. The average age of 9 students and their

teacher is 16 yr. The average age of the first


https://dl.doubtnut.com/l/_IOrbayXmt1mP
https://dl.doubtnut.com/l/_MinnhVSBpyFG

four students is 19yr and that of the last five is

10 yr. The teacher's age is

A. 36 years

B. 34 years

C. 30 years

D. 28 years

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_MinnhVSBpyFG

35. Numbers of boys and girls are 'x' and 'y’
respectively. Ages of a girl and a boy are 'a
years and 'b' years respectively. The average

age (in years) of all boys and girls is:

r+y
bz + ay
5 bxr + ay
T +y

c ar + by
T Hy

Try
“ax + by

Answer: B

‘ ° Wiak hh \AAA CAaliikianm



https://dl.doubtnut.com/l/_XdlfHFMgDnYj
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36. The average age of eleven cricket players is
20 years. If the age of the coach is also
Included, the average age increases by 10%.
The age of the coach is:

A. 48 years

B. 44 years

C. 40 years

D. 36 years


https://dl.doubtnut.com/l/_XdlfHFMgDnYj
https://dl.doubtnut.com/l/_aLNbljO11wAY

Answer: B

o Watch Video Solution

37. The average age of a husband and a wife
was 27 years when the child was born. The
average age of the husband, the wife and a
new-born child is 21 years now. The present

age of the child is :

A. 4 years

B. 3 years


https://dl.doubtnut.com/l/_aLNbljO11wAY
https://dl.doubtnut.com/l/_mbkUV2VLJKGJ

C. 2 years

D. 1year

Answer: D

o Watch Video Solution

38. The average age of a husband and wife,
who were married 4 years ago, was 25 years at
the time of their marriage. The average age of

the family consisting of husband, wife and a


https://dl.doubtnut.com/l/_mbkUV2VLJKGJ
https://dl.doubtnut.com/l/_ORti4Dy9kYvV

child, bom during the interval is 20 years

today. The age of the child is

A. 1year

B. 2 years

C. 2.5 years

D. 3 years

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_ORti4Dy9kYvV

39. Five years ago, the average age of P and Q

was 25. The average age of P, Q and R today is

25. Age of R after 5 years will be:

A. 15 years

B. 20 years

C. 40 years

D. 35 years

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_GYd96tu5jgLw

40.In a school, the average age of students is
6 years, and the average age of 12 teachers is
40 years. If the average age of the combined
group of all the teachers and students is 7
years, then the number of students is :

A. 396

B. 400

C. 408

D. 416

Answer: A


https://dl.doubtnut.com/l/_PH7uqgFxW933

° Watch Video Solution

41. In a school with 600 students, the average
age of the boys is 12 years and that of the girls
is 11 years. If the average age of the school is 11
years and 9 months, then the number of girls

in the school is:

A. 450

B. 150

C. 250


https://dl.doubtnut.com/l/_PH7uqgFxW933
https://dl.doubtnut.com/l/_O0evM3Krd4vu

D. 350

Answer: B

° Watch Video Solution

42. If out of 10 selected students for an
examination, 3 were of 20 years, age, 4 of 21
and 3 of 22 years, the average age of the

group is:

A. 22 years


https://dl.doubtnut.com/l/_O0evM3Krd4vu
https://dl.doubtnut.com/l/_PRUM9mAqNpYq

B. 21 years

C. 21.5 years

D. 20 years

Answer: B

o Watch Video Solution

43. 3 years ago, the average age of a family of
5 members was 17 years. A baby having been
born, the average age of the family Is same

today. The present age of the baby is:


https://dl.doubtnut.com/l/_PRUM9mAqNpYq
https://dl.doubtnut.com/l/_TayJyQZRQDWV

A. 1year

B.1 !
1 5 ) vear

C. 2 years

D. 3 years

Answer: C

o Watch Video Solution

44. A man had 7 children. When their average
age was 12 years, a child aged 6 years died. The

average age of remaining six children is:


https://dl.doubtnut.com/l/_TayJyQZRQDWV
https://dl.doubtnut.com/l/_p3wjFPQLfBH1

A. a) 13 years

B. b) 10 years

C.c) 11 years

D. d) 14 years

Answer: A

o Watch Video Solution

45. The average age of a cricket team of 11
players is the same as it was 3 years back

because 3 of the players whose current


https://dl.doubtnut.com/l/_p3wjFPQLfBH1
https://dl.doubtnut.com/l/_XKgYkNpBIbhu

average age of 33 years were replaced by 3
youngsters. The average age of the
newcomers is

A. 23 years

B. 21 years

C. 22 years

D. 20 years

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_XKgYkNpBIbhu
https://dl.doubtnut.com/l/_it1hVZUWbRJw

46. The frequency distribution data is given
below. If the average age is 17 years, the value

of mis:

Age in (years) 8 20 26 29
Number of people 3 2 m 1

Al
B.2
C.3

D. 4

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_it1hVZUWbRJw

47. After replacing an old member by a new
member, it was found that the average age of
five members of a club is the same as it was 3
years ago. The difference between the ages of
the replaced and the new members is:

A. 2 years

B. 4 years

C. 8 years

D. 15 years


https://dl.doubtnut.com/l/_it1hVZUWbRJw
https://dl.doubtnut.com/l/_FkSgcTiUwwl2

Answer: D

o Watch Video Solution

48. Three years ago, the average age of a
family of 5 members was 17 years. A baby
having been bom the average age of the
family is the same today. The present age of

the baby (in years) is :

A2

B.24


https://dl.doubtnut.com/l/_FkSgcTiUwwl2
https://dl.doubtnut.com/l/_jAF2MeTgh0UE

C.3

D.15

Answer: A

o Watch Video Solution

49. The average age of a class of 39 students Is
15 years. If the age of the teacher is included,
then the average increases by 3 months. Find

the age of the teacher.


https://dl.doubtnut.com/l/_jAF2MeTgh0UE
https://dl.doubtnut.com/l/_HVjtlqFGJmRl

A. 30 years

B. 25 years

C. 35 years

D. 40 years

Answer: B

o Watch Video Solution

50. The average age of Ram and Ra-him is 18
years. The average age of Rahim and Ramesh

is 25 years. The average age of Ram and


https://dl.doubtnut.com/l/_HVjtlqFGJmRl
https://dl.doubtnut.com/l/_lkGjTF0HJXXr

Ramesh is 29 years. What is the age (in years)

of the oldest of the three?

A 14

B. 22

C. 28

D. 36

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_lkGjTF0HJXXr

51. The average age of P, Q and R is 5 years

more than R's age. If the total ages of P and Q

together is 39 years, then R's age is:

A. a) 12 years

B. b) 24 years

C.c) 16 years

D. d) 14 years

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_0VCwf6zHxlic

52. The average age of Rustam and Preetam is
39 years. The average age of Preetam and
Geetam is 28 years. The average age of Rustam
and Geetam is 34 years. What will be the age
(in years) of the youngest of the three after 10

years?

A.a) 13

B.b) 23

C.c) 33

D.d) 43


https://dl.doubtnut.com/l/_OannznG6GHJd

Answer: C

o Watch Video Solution

53. The average age of a husband and his wife
was 23 years at the time of their marriage.
After five years they have a one year old child.

The average age of the family now is:

A. 29.3 years
B. 19 years

C. 23 years


https://dl.doubtnut.com/l/_OannznG6GHJd
https://dl.doubtnut.com/l/_eY7uwxscX4kE

D. 28.5 years

Answer: B

o Watch Video Solution

54.The average age of 30 students of a class is
14 years 4 months. After admission of 5 new
student in the class the average becomes 13
years 9 months. The youngest one of the five

new students is 9 years 11 months old. The


https://dl.doubtnut.com/l/_eY7uwxscX4kE
https://dl.doubtnut.com/l/_9knRXcpMxQBC

average age of the remaining 4 new students

IS :

A. 11 years 2 months

B. 13 years 6 months

C. 12 years 4 months

D. 10 years 4 months

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_9knRXcpMxQBC

55. The average age of 6 members of a family
is 25 years. If the youngest member of the
family is 15 years old, then what was the
average age (in years) of the family at the time

of the birth of the youngest memoer?

A9

B. 12

C.18

D. 24

Answer: B


https://dl.doubtnut.com/l/_gI3vsPmU3beq

° Watch Video Solution

56. The average age of 3 friends is 23 years.

Even if the age of 4th friend Is added, the

average age remains the same. Then the age

of the fourth friend is :

A. 20 years

B. 21 years

C. 22 years

D. 23 years


https://dl.doubtnut.com/l/_gI3vsPmU3beq
https://dl.doubtnut.com/l/_NVCDrRbY1LJG

Answer: D

o Watch Video Solution

57. The average age of a family with 5
members is 28 years. If one of the members of
age 20 years is excluded, the average age of
the family becomes

A. 25 years

B. 20 years

C. 30 years


https://dl.doubtnut.com/l/_NVCDrRbY1LJG
https://dl.doubtnut.com/l/_47NU2uvxLAJF

D. 24 years

Answer: C

° Watch Video Solution

58. The average age of husband, wife and their
child 3 years ago was 27 years and that of wife
and the child 5 years ago was 20 years. The

present age of the husband is :

A. 50 years


https://dl.doubtnut.com/l/_47NU2uvxLAJF
https://dl.doubtnut.com/l/_CXLo5PmxZanH

B. 40 years

C. 35 years

D. None of the options

Answer: B

o Watch Video Solution

59. Pushpa is twice as old as Rita was 2 years
ago. If difference between their ages is 2 years,

how old is Pushpa today?


https://dl.doubtnut.com/l/_CXLo5PmxZanH
https://dl.doubtnut.com/l/_MrmJaKfvNGMv

A. a) 6 years

B. b) 8 years

C.c) 10 years

D. d) 12 years

Answer: B

o Watch Video Solution

60. The average age of the boys in a class is 18
years. The average age of the girls in that class

is 12 years. If the ratio of the number of boys


https://dl.doubtnut.com/l/_MrmJaKfvNGMv
https://dl.doubtnut.com/l/_XGocBfd71NlJ

and girls in that class Is 3 : 2, then the average

age of the class is :

A.15. 6 years

B. 16. 5 years

C. 15 years

D. 16 years

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_XGocBfd71NlJ

61. The sum of the ages of father and son at
present is 33 years. Two years ago the product
of their ages was 28 years. What is the age of
the father and the son? (in years)

A. 26.7

B.30.3

C.294

D. 32.1

Answer: B

‘ ° Wiadk~h \AAA CAaliikianm



https://dl.doubtnut.com/l/_v5raLqtjpjvU
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62. A man retired from his service at the age of

60. He served for 5 th years of his retirement

age. He joined his job at the age of:

A. 18 years

B. 20 years

C. 24 years

D. 36 years

Answer: C

| s |


https://dl.doubtnut.com/l/_v5raLqtjpjvU
https://dl.doubtnut.com/l/_NQ9gWevkWNsn

| ¥ Watch Video Solution

63. The average age of four members of a
family is 32 years. If the age of a guest is
included, then the average age increases by
12.5%. What is the age (in years) of the guest ?
A. 52
B. 56

C.44

D. 12


https://dl.doubtnut.com/l/_NQ9gWevkWNsn
https://dl.doubtnut.com/l/_oSmdLkvFbdz5

Answer: A

o Watch Video Solution

64. Average age of a team having 12 players is

23 years. If the age of the coach is also

included, then the average age increases by 2

years. What is the age (in years) of the coach ?
A 41

B.47

C. 49


https://dl.doubtnut.com/l/_oSmdLkvFbdz5
https://dl.doubtnut.com/l/_hCx8HWPQN2kv

D. 51

Answer: C

° Watch Video Solution

65. 5 years ago the average age of a family
which includes father, mother and a son was
35 years. 3 years ago the average age of father
and mother was 46 years. What is the present

age (in years) of the son?

A. 20


https://dl.doubtnut.com/l/_hCx8HWPQN2kv
https://dl.doubtnut.com/l/_Yfddy6KbXL05

B. 24

C. 26

D. 22

Answer: D

o Watch Video Solution

66. Of the 3 numbers whose average is 22. the
3
first is 3 th the sum of other 2. What is the

first number ?


https://dl.doubtnut.com/l/_Yfddy6KbXL05
https://dl.doubtnut.com/l/_CxLnn5XUYteX

A.16

B. 20

C. 22

D. 18

Answer: D

o Watch Video Solution

67. The average age of Rustam and Preetam Is
39 years. The average age of Preetam and

Geetam is 28 years. The average age of Rustam


https://dl.doubtnut.com/l/_CxLnn5XUYteX
https://dl.doubtnut.com/l/_3mZ5Gtjo4hJ2

and Geetam is 34 years. What will be the age
(in years) of the youngest of the three after 10
years?

A. 13

B. 23

C.33

D. 43

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_3mZ5Gtjo4hJ2
https://dl.doubtnut.com/l/_s07rS4ZfppCS

68. The average age of 6 members of a family
is 25 years. If the youngest member of the
family is 15 years old, then what was the
average age (in years) of the family at the time

of the birth of the youngest memoer?

A9

B.12

C.18

D. 24

Answer: B

[ 1


https://dl.doubtnut.com/l/_s07rS4ZfppCS

I 0 Watch Video Solution

69. Among four students sitting in a row,
average age of last three students is 20 years
and the average age of first three students is
21 years. If the age of first student is 26 years,
then what is the age (in years) of the last

student?

A. 23

B.37

C.24


https://dl.doubtnut.com/l/_s07rS4ZfppCS
https://dl.doubtnut.com/l/_m8Y7P0nQEpRl

D. 29

Answer: A

° Watch Video Solution

70. Average age of 6 boys is 14 years. Average

age of 11 girls is 12 years. What is the average

age (in years) of all boys and girls?

A.12.7

B.14.6


https://dl.doubtnut.com/l/_m8Y7P0nQEpRl
https://dl.doubtnut.com/l/_rA2GUEqOl4EM

C.19.3

D. 85

Answer: A

o Watch Video Solution

71. Average age of 5 students of a school Is 14
years. The average age of students and their
mathematics and science teachers is 30 years.
If the age of science teacher is 6 years more

than the age of mathematics teacher, then


https://dl.doubtnut.com/l/_rA2GUEqOl4EM
https://dl.doubtnut.com/l/_5YZrUUAJn7an

what is the age (in years) of mathematics

teacher?

A. 67

B. 68

C. 56

D.74

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_5YZrUUAJn7an

72. Average age of 4 daughters of a family is 12
years. The average age of daughters and their
parents is 26 years. If the mother is 4 years
older than the father, what is the age (in

years) of the father?

A. 56

B.52

C. 48

D. 44

Answer: B


https://dl.doubtnut.com/l/_WUdwFGdAzVuP

° Watch Video Solution

73. The average age of Sita and Gita is 30
years. If Rita replaces Sita, then the average
age will become 28 years and if Rita replaces
Gita, then the average age will become 32
years. What are the respective ages (in years)

of Sita, Gita and Rita?

A. 40,44 ,36

B. 44,40, 36

C.34.26.30


https://dl.doubtnut.com/l/_WUdwFGdAzVuP
https://dl.doubtnut.com/l/_6pWrxzoEte8A

D. 30, 26, 34

Answer: C

° Watch Video Solution

74.The average age of 40 students in a class Is
12 years. When the age of teacher is included,
the average increases by 1 year. The teacher's

age is:

A. 51 years


https://dl.doubtnut.com/l/_6pWrxzoEte8A
https://dl.doubtnut.com/l/_CFtc16n5XeMi

B. 53 years

C. 68 years

D. 48 years

Answer: B

o Watch Video Solution

1. The average monthly Income of A and B is Rs

14000, that of B and C Is Rs 15600 and A and C


https://dl.doubtnut.com/l/_CFtc16n5XeMi
https://dl.doubtnut.com/l/_1aRD8CvS47AR

is Rs 14400. The monthly income of Ciis:

A. Rs 16000

B. Rs 15000

C.Rs 14000

D. Rs 15500

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_1aRD8CvS47AR

2. The average monthly income of X and Y is Rs
5050. The average monthly income of Y and Z
is Rs 6250 and the average monthly income of

X and Z is Rs 5200. The monthly Income of X is

A.Rs 4050

B. Rs 3500

C. Rs 4000

D. Rs 5000

Answer: C


https://dl.doubtnut.com/l/_mJjZu7TlyWOJ

° Watch Video Solution

3. The average expenditure of a man for the
first five months is Rs. 1200 and for the next
seven months is Rs. 1300. Find his monthly
average income if he saves Rs. 2900 during the

year.

A.Rs 1500

B. Rs 1600

C.Rs 1700


https://dl.doubtnut.com/l/_mJjZu7TlyWOJ
https://dl.doubtnut.com/l/_mCT30s6vszJA

D.Rs 1400

Answer: A

° Watch Video Solution

4. The average monthly salary of 19 members
of a group is Rs. 16000. If one more member
whose monthly salary is Rs. 20000 Joins the

group, then the average salary of the group is:

A. a) Rs 18250


https://dl.doubtnut.com/l/_mCT30s6vszJA
https://dl.doubtnut.com/l/_2COJmgKBOKra

B. b) Rs. 16200

C. c) Rs. 18000

D. d) Rs. 16250

Answer: B

o Watch Video Solution

5. The average salary per head of all workers of
an institution is¥v 60. The average salary per

head of 12 officers is ¥ 400. The average salary


https://dl.doubtnut.com/l/_2COJmgKBOKra
https://dl.doubtnut.com/l/_M4F6AgOEKjxS

per head of the rest is ¥ 56. Then, the total

number of workers in the institution is

A.1030

B. 1035

C. 1020

D. 1032

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_M4F6AgOEKjxS

6. The average monthly expenditure of a family
for the first four months is Rs 2570, for the
next three months Rs 2490 and for the last five
months Rs 3030. If the family saves Rs 5320
during the whole year, the average monthly

Income of the family during the year is:

A. a) Rs 3000

B.b) Rs 3185

C.c) Rs 3200

D. d) Rs 3580


https://dl.doubtnut.com/l/_bpgO60CRP7AF

Answer: B

o Watch Video Solution

7. A man spends Rs 1800 monthly on an

average for the first four months and Rs 2000

monthly for the next eight months and saves

Rs 5600 a year. His average monthly income is:
A.Rs 2000

B.Rs 2200

C.Rs 2400


https://dl.doubtnut.com/l/_bpgO60CRP7AF
https://dl.doubtnut.com/l/_cX53AQ4Wzvey

D. Rs 2600

Answer: C

° Watch Video Solution

8. The average salary of all workers in a
workshop is Rs. 12000. The average salary of 7
technicians is Rs.15000 and the average salary
of the rest is Rs. 9000. The total number of

workers in the workshop is :

A. 12


https://dl.doubtnut.com/l/_cX53AQ4Wzvey
https://dl.doubtnut.com/l/_Ex2t8tLQ6zYJ

B.13

C.14

D.15

Answer: C

o Watch Video Solution

9. A man spends in 8 months as much as he
earns in 6 months. He saves Rs. 6000 in a year.

His average monthly income is:


https://dl.doubtnut.com/l/_Ex2t8tLQ6zYJ
https://dl.doubtnut.com/l/_yfVLndLyEkO4

A.Rs 2400

B. Rs 2000

C.Rs 2150

D. Rs 1800

Answer: B

o Watch Video Solution

10. Average income of 'A' and 'B' is Rs 200 and
average Income of 'C' and 'D' is Rs 250. The

average income of AB,Cand D is:


https://dl.doubtnut.com/l/_yfVLndLyEkO4
https://dl.doubtnut.com/l/_JJE0mp2UJcQc

A. Rs 106.25

B.Rs 125

C.Rs 200

D.Rs 225

Answer: D

o Watch Video Solution

1. The average daily income of 7 men, 11
women and 2 boys is Rs. 257.50. If the average

daily income of the men that of women and


https://dl.doubtnut.com/l/_JJE0mp2UJcQc
https://dl.doubtnut.com/l/_GIfutcoE3mXe

the average daily income of the women is Rs.

10 more than that of boys, the average daily

income of a man is:

A.Rs. 277.5

B. Rs. 250

C. Rs. 265

D. Rs. 257

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_GIfutcoE3mXe
https://dl.doubtnut.com/l/_g0argBgyA6hm

12. The average salary of all the associates in a
team is Rs. 16000. The average salary of 7
senior associates is Rs. 24000 and the average
salary of the rest is Rs. 12000. How many
associates work in that team?

A. a) 21

B.b) 22

C.c) 23

D.d) 24

Answer: A



https://dl.doubtnut.com/l/_g0argBgyA6hm

I O Watch Video Solution

13. The average expenditure of Raman for 5
days is Rs. 130. If his expenditure for the first 4
days is Rs. 100, Rs. 125, Rs. 85 and Rs. 160
respectively, what is his expenditure (in Rs.) of
the 5th day?

A. 165

B. 180

C. 185

D. 195


https://dl.doubtnut.com/l/_g0argBgyA6hm
https://dl.doubtnut.com/l/_szjuX3o8yQYA

Answer: B

o Watch Video Solution

14. The average savings of Champak in 5 days

is Rs. 160. If his savings for the first 4 days is

Rs. 155, Rs. 170, Rs. 134 and Rs. 168 respectively,

then what is his saving (In Rs.) of the 5th day?
A. 161

B. 163

C. 169


https://dl.doubtnut.com/l/_szjuX3o8yQYA
https://dl.doubtnut.com/l/_O253p2VN8D5G

D. 173

Answer: D

° Watch Video Solution

15. The average monthly income of P and Q is
Rs. 8500, that of Q and R is Rs. 6450 and that
of P and R is Rs. 7300.What is the monthly

income of Q?

A. Rs. 7,650


https://dl.doubtnut.com/l/_O253p2VN8D5G
https://dl.doubtnut.com/l/_5XOuV1pDRvv6

B.Rs. 7,000

C. Rs. 7,600

D. Rs. 8,650

Answer: A

o Watch Video Solution

1. A company produces an average of 4000

items per month for the first 3 months. How


https://dl.doubtnut.com/l/_5XOuV1pDRvv6
https://dl.doubtnut.com/l/_cSAj0vptvmEE

much items, it must produce on an average

per month over the next 9 months to average

4375 items per month over the whole year?

A. a) 4500

B. b) 4600

C.c) 4680

D.d) 4710

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_cSAj0vptvmEE
https://dl.doubtnut.com/l/_WlqtJYBkP8xq

2. There are in all, 10 balls, some of them are
red and the others white. The average cost of
all balls is Rs 28. If the average cost of red balls
is Rs 25 and that of white balls is Rs 30, the
number of white balls is:

A3

B.5

C.6

D.7

Answer: C



https://dl.doubtnut.com/l/_WlqtJYBkP8xq

I 0 Watch Video Solution

3. The arithmetic mean of the scores of a
group of students in a test was 52. The
brightest 20% of them secured a mean score
of 80 and the dullest 25% a mean score of

31.The mean score of remaining 55% is:

A.045

B.0.5

C. 51.4% approx.

D. 54.6% approx.


https://dl.doubtnut.com/l/_WlqtJYBkP8xq
https://dl.doubtnut.com/l/_fcmJXMJSNY8t

Answer: C

o Watch Video Solution

4. A and B have their annual average income
Rs. 80,000. B and C have their annual average
Income Rs. 75,000. C and A have their annual
average income Rs. 78,000. The annual income

of Ais

A.Rs. 81000

B. Rs. 82000


https://dl.doubtnut.com/l/_fcmJXMJSNY8t
https://dl.doubtnut.com/l/_XXSV4dtwyFhp

C. Rs. 83000

D. Rs. 84000

Answer: C

o Watch Video Solution

5. A man's pension on retirement from service
is equal to half the average salary during last 3
years of his service. His salary from 1-1-1983 is

Rs 380 per month with increment of Rs 40 due


https://dl.doubtnut.com/l/_XXSV4dtwyFhp
https://dl.doubtnut.com/l/_LCbNJvpoK5m5

on 1-10-83, 1-10-84 and 1-10-85, If he retires on 1-

1-86, what pension does he draw per month?

A. Rs 205

B.Rs 215

C.Rs 225

D.Rs 230

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_LCbNJvpoK5m5

6. The average salary of all the workers in a
workshop is Rs 8000. The average salary of 7
technicians is Rs 12000 and the average salary
of the rest is Rs 6000. The total number of
workers in the workshop is:

A. 20

B. 21

C.23

D. 22

Answer: B


https://dl.doubtnut.com/l/_xgBctlyLQmls

° Watch Video Solution

7. The average (arithmetic mean) amount of
savings of ten students is Rs. 600. Three of the
students have no savings at all and each of
the others have at least Rs. 250 including
Nihar, who has exactly Rs. 1300. The largest
amount, in Rs., that any one student could

have is:

A.Rs. 3250

B. Rs. 3450


https://dl.doubtnut.com/l/_xgBctlyLQmls
https://dl.doubtnut.com/l/_5BGRbJ3rKN6s

C. Rs. 3650

D. Rs. 3850

Answer: B

o Watch Video Solution

8.1n a family of 8 adults and some minors, the
average consumption of rice per head per
month is 10.8 kg, while the average

consumption for adults is 15 kg per head and


https://dl.doubtnut.com/l/_5BGRbJ3rKN6s
https://dl.doubtnut.com/l/_yoVqsFEv5AZm

for minors it is 6 kg per head. The number of

minors in the family is :

A.8

B.6

C.7

D.9

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_yoVqsFEv5AZm

9. The average monthly income (in Rs) of
certain agricultural workers is S and that of
other workers is T. The number of agricultural
workers is 11 times that of other workers. Then,
the average monthly income (in Rs) of all the

workers is :

A S+ 11T
' 12

5 S+T
C12



https://dl.doubtnut.com/l/_1O6QUDxyYddi

Answer: C

o Watch Video Solution

10. The average of marks scored by the
students of a class is 68. The average of marks
of the girls In the class is 80 and that of boys
is 60. What is the percentage of boys in the

class ?

A.04

B.0.6


https://dl.doubtnut.com/l/_1O6QUDxyYddi
https://dl.doubtnut.com/l/_hWrmgNbbXzJx

C.0.65

D. 0.7

Answer: B

o Watch Video Solution

1. An army of 12000 consists of Europeans
and Indians. The average height of a European
is 5ft 10 inches and that of an Indian is 5ft 9

inches and that of the whole army is 5ft


https://dl.doubtnut.com/l/_hWrmgNbbXzJx
https://dl.doubtnut.com/l/_dE7TaiwXbwnC

9 5 ) h
7 | inches.

Then the number of Indians in the army is:

A.3000
B.4000
C. 5500

D. 2700

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_dE7TaiwXbwnC

12. The average pocket money of 3 friends A
,B,C is Rs 80 in a particular month. If B spends
double and C spends triple of what A spends
during that month and if the average of their
unspent pocket money is Rs 60, then A spends

(in Rs)

A.Rs 10

B.Rs 20

C.Rs 30

D.Rs 40


https://dl.doubtnut.com/l/_VZKzQFv4NDJx

Answer: A

o Watch Video Solution

13. The average score of a-class of boys and
girls in an examination is A. The ratio of boys
and girls in the class is 3:1. If the average
score of the boys is A + 1, the average score of

the girls is :

AA+1

BA—-1


https://dl.doubtnut.com/l/_VZKzQFv4NDJx
https://dl.doubtnut.com/l/_4xq6cW9jQk3h

CA+3

D.A -3

Answer: D

° Watch Video Solution

14. If the average of m numbers is n* and that
of n numbers is m? . Then find the average of (

m + n) numbers.

m
A —
n


https://dl.doubtnut.com/l/_4xq6cW9jQk3h
https://dl.doubtnut.com/l/_JHuYb7KwgGwP

B.m +n

D.m —n

Answer: C

o Watch Video Solution

15. The average of the three numbers x,y and z
Is 45. x is greater than the average of y and z
by 9. The average of y and z is greater than y

by 2. Then the difference of x and z is:


https://dl.doubtnut.com/l/_JHuYb7KwgGwP
https://dl.doubtnut.com/l/_zSsJ8FwlUgTO

A.a)3

B.b)5

Answer: C

o Watch Video Solution

16. The average expenditure of a man for the
first five months of a year is Rs 5,000 and for

the next seven months it is Rs 5,400. He saves


https://dl.doubtnut.com/l/_zSsJ8FwlUgTO
https://dl.doubtnut.com/l/_azNOotbcRhMU

Rs 2,300 during the year. His average monthly
income is:

A.Rs 5,425

B.Rs 5,500

C.Rs 5,446

D. Rs 5,600

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_azNOotbcRhMU

17. The average of 8 numbers is 20. The
average of first tow numbers is 15 % and that
of the next three is 21%. If the sixth number
be less that the seventh and eight numbers by

4 and 7 respectively, then the eighth number

IS :
A. 20
B. 25

C. 216

D. 253


https://dl.doubtnut.com/l/_fQc18qnlXaei

Answer: B

o Watch Video Solution

18. 30 pens and 75 pencils altogether were
purchased for Rs 510. If the average price of a
pencil was Rs 2, what was the average price of
apen?

A.Rs 9

B.Rs 10

C.Rs 11


https://dl.doubtnut.com/l/_fQc18qnlXaei
https://dl.doubtnut.com/l/_ySXLglk0qUqp

D.Rs 12

Answer: D

o Watch Video Solution

19. The average mathematics marks of two
Sections A and B of Class IX in the annual
examination is 74. The average marks of
Section A is 77.5 and that of Section B is 70.
The ratio of the number of students of Section

A and B is:


https://dl.doubtnut.com/l/_ySXLglk0qUqp
https://dl.doubtnut.com/l/_SSVHa1Yn2ofk

A T:8

B.7:5

C.8:7

D.8:5

Answer: C

o Watch Video Solution

20. Visitors to a show were charged Rs. 15 each
on the first day, Rs. 7.50 on the second day, Rs.

2.50 on the third day and total attendance on


https://dl.doubtnut.com/l/_SSVHa1Yn2ofk
https://dl.doubtnut.com/l/_natUSgd9JTgQ

three days were in the ratio 2 : 5 : 13

respectively. The average charge per person

for the entire three days is

A.Rs 5

B.Rs 5.50

C.Rs 6

D.Rs 7

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_natUSgd9JTgQ
https://dl.doubtnut.com/l/_y5kpl6rWUqwX

21. The average salary of all staff of a school is
Rs 10,000. The average salary of 20 teaching
staff is Rs 12,000 and that of non-teaching
staff is Rs 5000. the number of non-teaching
staff will be:

A7

B.8

C.10

D. 12

Answer: B



https://dl.doubtnut.com/l/_y5kpl6rWUqwX

I 0 Watch Video Solution

22. B was born when A was 4 years 7 months

old and C was born when B was 3 years 4

months old. When C was 5 years 2 months old,

then their average age was

A. 8 years 9 months

B. 7 years 3 months

C. 8 years 7 months

D. 8 years 11 months


https://dl.doubtnut.com/l/_y5kpl6rWUqwX
https://dl.doubtnut.com/l/_4PnxR52iPSpI

Answer: D

o Watch Video Solution

1
23. If the average of x and E(a; # 0) is M,

1
then the average of 2% and — is:
x

Aa)l — M?
B.b)1 — 2M
C.c)2M? — 1

D.d) 2M? + 1


https://dl.doubtnut.com/l/_4PnxR52iPSpI
https://dl.doubtnut.com/l/_oi0khxeJE2yz

Answer: C

o Watch Video Solution

24. 5 members of a team are weighed
consecutively and their average weight
calculated after each member is weighed. If
the average weight increases by one kg each
time, how much heavier is the last player than

the first one ?

A. 4 kg


https://dl.doubtnut.com/l/_oi0khxeJE2yz
https://dl.doubtnut.com/l/_fOG6nQpURmxu

B. 20 kg

C.8kg

D.5 kg

Answer: C

o Watch Video Solution

25. The average temperature of Monday,
Tuesday , Wednesday and Thursday is 60°. The
average temperature for Tuesday, Wednesday,

Thursday and Friday is 63°. If the ratio of


https://dl.doubtnut.com/l/_fOG6nQpURmxu
https://dl.doubtnut.com/l/_BUC1GRjIspQG

temperature for Monday and Friday is 21 : 25,

then what is the temperature of Friday?

A.70°

B.73°

C.75°

D. 78°

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_BUC1GRjIspQG

26. In the afternoon , a student read 100 pages
at the rate of 60 pages/h . In the evening ,
when she was tired she read 100 more pages
at the rate of 40 pages/h . What was her
average rate of reading, in pages per hour ?

A. 60

B.70

C.48

D. 50

Answer: C


https://dl.doubtnut.com/l/_HTo0vhMiregg

° Watch Video Solution

27. Ram aims to score an average of 80 marks
in quarterly and half yearly exams. But his
average in quarterly is 3 marks less than his
target and that in half yearly is 2 marks more
than his aim. The difference between the total
marks scored in both the exams is 25. Total

marks aimed by Ram is :

A. 400

B. 410


https://dl.doubtnut.com/l/_HTo0vhMiregg
https://dl.doubtnut.com/l/_1NyWVHG0yE8L

C.420

D. 380

Answer: A

o Watch Video Solution

28. While purchasing one item costing Rs 400,
one has to pay sales tax at 7% and on another
costing ? 6400, the sales tax was 9%. The per
cent of sales tax one has to pay, taking these

items together on an average is :


https://dl.doubtnut.com/l/_1NyWVHG0yE8L
https://dl.doubtnut.com/l/_wxt1YX75Rw1H

Answer: B

o Watch Video Solution

29. On mixing two classes A and B of students

having average marks 25 and 40 respectively,


https://dl.doubtnut.com/l/_wxt1YX75Rw1H
https://dl.doubtnut.com/l/_cVJBtODZm2Fp

the overall average obtained is 30. Find the

ratio of the students in the classes A and B.

A2:1

B.5:8

C.5:6

D.3:4

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_cVJBtODZm2Fp

30. A man purchases milk for three
consecutive years. In the first year, he
purchases milk at the rate of Rs 7.50 per litre,
In the second year, at the rate of Rs 8.00 per
litre and in the third year, at Rs 8.50 per litre. If
he purchases milk worth Rs 4,080 each year,
the average price of milk per litre for the three

years is:

A.Rs 7.68

B. Rs 7.98

C.Rs 7.54


https://dl.doubtnut.com/l/_Hgf5SND05A8C

D.Rs 7.83

Answer: B

o Watch Video Solution

31. A fruit seller sold big, medium and small
sized apples for Rs 15, Rs 10 and Rs 5
respectively. The total number of apples sold
were in the ratio 3:2: 5. Find the average cost

of an apple.

A.8


https://dl.doubtnut.com/l/_Hgf5SND05A8C
https://dl.doubtnut.com/l/_VFuhYpdpKcbL

B.10

C.9

D.7

Answer: C

o Watch Video Solution

32. A man purchased 7 bags of rice at the rate
of Rs 800 each, 8 bags of rice at X. 1000 each
and 5 bags of rice at the rate of Rs 1200 each.

What is the average cost of one bag of rice ?


https://dl.doubtnut.com/l/_VFuhYpdpKcbL
https://dl.doubtnut.com/l/_XmORrEuMKeOu

A. Rs 1000

B. Rs 980

C.Rs 1120

D. Rs 1050

Answer: B

° Watch Video Solution

33. The average (arithmetic mean) of

330 350 and 3% s


https://dl.doubtnut.com/l/_XmORrEuMKeOu
https://dl.doubtnut.com/l/_V89rV8Cfus9s

A 327 4+ 357 4 387

B. 39237

C.3%9 + 3% 4 3%

Answer: C

o Watch Video Solution

34. In a team of 10 persons, nine persons
spent Rs 40 each for their meal and the

remaining one spent Rs 9 more than the


https://dl.doubtnut.com/l/_V89rV8Cfus9s
https://dl.doubtnut.com/l/_vTWMBFdLlaCX

average expenditure of all the 10 persons. The

total expenditure for their meal was

A. A)Rs 510

B. B)Rs 310

C.C)Rs 410

D. D)Rs 610

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_vTWMBFdLlaCX

35. In an examination average marks obtained
by the girls of a class is 85 and the average
marks obtained by the boys of the same class
is 87. If the girls and boys are in the ratio 4:5,
average marks of the whole class

(approximately) is closest to

A. 859

B. 86.1

C.86.4

D. 86.5


https://dl.doubtnut.com/l/_5mddhmfylUXW

Answer: B

o Watch Video Solution

36. A shop of electronic goods is closed on
Monday. The average sales per day for
remaining six days of a week is Rs 15640 and
the average sale on Tuesday to Saturday is Rs

14124. The sales on Sunday is:

A. Rs 21704

B. Data inadequate


https://dl.doubtnut.com/l/_5mddhmfylUXW
https://dl.doubtnut.com/l/_dtluu8SDzM2s

C.Rs 23220

D. Rs 20188

Answer: C

o Watch Video Solution

37. Fifteen movie theatres average 600
customers per theatre per day. If six of the
theatres close down but the total theatre

attendance stays the same, then the average


https://dl.doubtnut.com/l/_dtluu8SDzM2s
https://dl.doubtnut.com/l/_qvDxsFeqgmV0

daily attendance per theatre among the

remaining theatres is:

A.900

B. 1000

C. 1100

D. 1200

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_qvDxsFeqgmV0

38. Last year, 5 companies had an average of 16
non working days each. This year, 3 companies
had 10 more non working days each, and 2
companies had 5 fewer non working days each.
What was the average number of non working

days given by the same companies this year?

A. 12

B.18

C. 20

D. 22


https://dl.doubtnut.com/l/_zpzT3hpYXZn5

Answer: C

o Watch Video Solution

39. On 24th May, 2008 the maximum
temperature of Delhi, Kolkata and Mumbai
were recorded as 35°C, 33°C and 34°C
respectivel. What was the maximum
temperature of Chennai so that the average
maximum temperature of those cities would

be 3597


https://dl.doubtnut.com/l/_zpzT3hpYXZn5
https://dl.doubtnut.com/l/_XXxfTocGgKe6

A.a) 34°C

B.b)35°C

C.c)36°C

D.d) 38°C

Answer: D

o Watch Video Solution

40. Eight members of a club donate Rs. 100
each towards a Relief Fund and the President

of the club donates Rs. 50 more than the


https://dl.doubtnut.com/l/_XXxfTocGgKe6
https://dl.doubtnut.com/l/_iErPIoOUzR0h

average donation of all (including President)

of them. Then the contribution of the

president is:

A. Rs. 106.25

B. Rs. 156.25

C.Rs. 56.25

D. Rs. 206.25

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_iErPIoOUzR0h
https://dl.doubtnut.com/l/_aiA28GTjJ8IX

41. A team of 8 persons joins in a shooting
competition. The best marksman scored 85
points. If he had scored 92 points, the average
score for the team would have been 84. The
number of points the team scored was

A. 672

B. 665

C. 645

D. 588

Answer: B



https://dl.doubtnut.com/l/_aiA28GTjJ8IX

I 0 Watch Video Solution

42. A librarian purchased 60 story books for
his library. But he found that he could get 4
extra books by spending Rs. 336 more and
then the overall average price per book would
be reduced by Rs 1. The previous average price

of each book was

A.Rs 84

B.Rs 83

C.Rs 68


https://dl.doubtnut.com/l/_aiA28GTjJ8IX
https://dl.doubtnut.com/l/_fKVMVPJBR4Jv

D. Rs 100

Answer: D

o Watch Video Solution

43. The average revenues of 7 consecutive
years of a company is Rs. 79 lakhs. If the
average of first 4 years is Rs. 74 lakhs and that
of last 4 years is Rs. 86 lakhs, what is the

revenue for the 4th year?

A. Rs. 87 lakhs


https://dl.doubtnut.com/l/_fKVMVPJBR4Jv
https://dl.doubtnut.com/l/_Pmh2xhjTPNIi

B. Rs. 89 lakhs

C. Rs. 85 lakhs

D. Rs. 83 lakhs

Answer: A

o Watch Video Solution

44. The average revenue of 13 consecutive
years of a company is Rs. 70 lakhs. If the

average of first 7 years is Rs. 65 lakhs and that


https://dl.doubtnut.com/l/_Pmh2xhjTPNIi
https://dl.doubtnut.com/l/_gg4xUAeWm0MK

of last 7 years is Rs. 77 lakhs, find the revenue

for the 7th year.

A. Rs. 86 lakh

B. Rs. 84 lakh

C. Rs. 82 lakh

D. Rs. 80 lakh

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_gg4xUAeWm0MK

45.The average revenues of seven consecutive
years of a company is Rs. 83 lakh. If the average
of first four years Is Rs. 78 lakh and that of last
four years is Rs. 90 lakh, find the revenue for
the fourth year.

A. Rs. 91 lakh

B. Rs. 93 lakh

C. Rs. 89 lakh

D. Rs. 87 lakh

Answer: A


https://dl.doubtnut.com/l/_Jp50QZtFiD2B

o Watch Video Solution

46. Out of the five subjects, the average marks
of Suman in first 3 subjects was 81 and the
average marks in the last 3 subjects was 74. If
her marks in the third subject was 65, what

was her average marks in all the subjects?

A.75

B. 76

C.79


https://dl.doubtnut.com/l/_Jp50QZtFiD2B
https://dl.doubtnut.com/l/_VolftJfjmj0x

D. 80

Answer: D

o Watch Video Solution

47. Average of 8 numbers is 40. The average of
first three numbers is 46 and the average of
next two numbers is 50. If the sixth number is
6 and 10 less than seventh and eighth number
respectively, then what is the value of eighth

number?


https://dl.doubtnut.com/l/_VolftJfjmj0x
https://dl.doubtnut.com/l/_wEMUXevth1ry

A. 28

B. 22

C.30

D. 32

Answer: D

o Watch Video Solution

48.1n a class of 70 students, 40% are girls and
remaining are boys. The average marks of the

boys are 63 and that of the girls are 70. What


https://dl.doubtnut.com/l/_wEMUXevth1ry
https://dl.doubtnut.com/l/_3bWG5nzxF703

is the average marks of the whole class?
70 B! 6 U Hall & 40% il 3R A9 5 &
| TSl BT 3 37 63 AT @sfddl ol 3d 3i®

70 & | T3 BT T 31Ad 37e6 SiTd - |

A. 654
B. 65.8
C.65.2

D. 64.8

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_3bWG5nzxF703



https://dl.doubtnut.com/l/_3bWG5nzxF703

